### Acabellas

Contacts:

Music Director: Christina Wagner, cwagner@brynmawr.edu, (631) 603-1332 Business Manager: Liz Coleman, ecoleman@brynmawr.edu, (610) 716-3850 Treasurer: Rachel Anderson, rmanderson@brynmawr.edu, (651) 226-3264

EVENT	ITEM	Quantity Price	Total Needed	Total Awarded
Recording				
855	All You Wanted	7 hours \$50.00/hr	\$350.00	350
	Oh Darling	7 hours \$50.00/hr	\$350.00	200
	Breakfast At Tiffany's	7 hours \$50.00/hr	\$350.00	0
			1	
				7
Mixing				
	All You Wanted	1.5 hours \$50.00/hr		
	Oh Darling	1.5 hours \$50.00/hr		
	Breakfast At Tiffany's	1.5 hours \$50.00/hr	\$75.00	0
Arranging Music				
	Finale	2 \$10 each	\$20.00	20
				0.45
SEMESTER TOTAL:			\$1,295.00	645

## **BMC ACS (Alternative Concert Series)**

Committee:		smoser@brynmawr.edu e Kelly, Sara Chang, Sharon I			
EVENT	ITEM			1-	Quantity
Advertising	Poster publicity to be	e printed on campus-\$.50/p	age x 20 poster	s per show x 2 sh	ov 40
Merch (DIY)	T-Shirts Spray Paint				60 10
Andrea Gibson*	Travel Buyout (to be	paid by September 23rd, 2 to be proposed under spec	20 Day 10 - 10 - 1		1
November Event	Cheryl Rodey- Music Travel				*\\$*\1

Samantha Salazar ssalazar@brynmawr.edu 7086010869

SEMESTER TOTAL:

Contacts:

Co-Heads:

Price		Total Needed		Total Awarded
\$.5/1		\$2	20.00	\$20.00
\$6/5		\$7	2.00	\$72.00
\$8/1		\$8	0.00	\$80.00
N 450	\$350	-	\$350	\$350
2754-11	\$300.00	\$30	0.00	\$300.00
3 11	\$200.00	\$20	0.00	\$200.00

Date Submitted:	9/11/2009			
Name of Club:	Active Minds			
Manie or clab.	To bring awarness to the			
	student body about mental			
Mission:	health issues and wellbeing.			
1110010111	Emily Lovejoy (elovejoy) and	Phone:		
	Danielle Marinucci	(330) 606-		
Presidents:	(dmarinucci)	0132		
	,	Phone: 415-		
Treasurer:	Katelyn Kazan (kkazan)	272-3242		
Evnences	Description of Evponess	Costs for Items	Total for line	Total for Section
Expences	Description of Expenses	items	ine	Section
Post-Secret			Leliva made	
	Blank post cards 4x6 - 1 pack			
	- 500 cards	\$4.99	\$4.99	
Subtotal				\$4.99
National Mental				
Health				
Awareness				
Week			STELLEUR S	SALES OF THE PARTY
	Send Silence packing	\$0.00		
	Bubble Wrap - 12 rolls	\$7.99	350500000	
Advertising	Color Paper - 1 reem	\$8.49	\$8.49	
Subtotal				\$104.37
Mid-term				
Stressbuster				
snacks	Chex-mix - 7 bags	\$9.99	\$9.99	
	Kool-Aid -1 box	\$4.75	\$4.75	
Activity	Finger Paint	\$0.00	\$0.00	
	Paper	\$0.00	\$0.00	The state of the s
Subtotal				\$14.75
Movie Night x2				
Snacks	1 box of popcorn	\$6.25	\$6.25	
	2 Large Pizzas	\$10.99	\$21.98	
	2 24 ounce soda bottles	\$3.25	\$6.50	
Subtotal				\$34.73

Before finals stressbuster night - Spa Night

### Budget Proposal for Active Minds - Fall 09

		.99 - 5		
	Nail Polish	bottles	\$4.95	
		3.95 - 3		
	Tea Cookies	boxes	\$11.85	
		\$1.99 - 4	100	
	Herbal Tea	boxes	\$7.96	
	Tulle for Sachets - I roll	\$4.50	\$4.50	
Subtotal			\$29.26	
Total Expens	ses			\$188.10

J. 1965 T. O. C. Berlin

### Total Rewarded

- -

8.49

14.75

34.73

29.26

92.22

## **Adopt a Grandparent**

Contacts:

President: Miranda Bennett, mebennett@brynmawr.edu, 434 960-5404

Secretary: Amy Rives, arives@brynmawr.edu, (912) 856-6787

Treasurer: Tina Hu, thu@brynmawr.edu, 909 569-8506

		Total Needed	Total Awarded
End of the semester event	Food	\$50.00	25
	Decorations/Cards/Games	\$50.00	25
Total		\$100.00	0.

SEMESTER TOTAL:

\$100.00

50

### Bryn Mawr College Aikido Club (budget Fall 2009)

Contacts:

President: Hannah Gatz-Miller, hgatzmille@brynmawr.edu, 971-570-1498 Box# C-546

Treasurer: Chandlee Taylor, cctaylor@brynmawr.edu, 410-271-3666

Event:	Item	Quantity	Price	Total Needed Total	al Awarded
Aikido Class	Mat Fee/Teaching fee Gi (uniform)	5 (new)	1 \$1,000 \$50		\$850 \$0
Semester To	otal:			\$1,250	\$850

### AIS: Association of Internation

Contacts:

President: Wajeeha Mohsin, wmohsin@brynmawr.edu, 484-222-150 President: Yufan Wang, ywang01@brynmawr.edu, 954-770-0313

Treasurer: Jiajie Lu, jlu@brynmawr.edu, 201-257-2361

**EVENT** 

Internship Panel

9/24/2009

International Movie Night/de-stressing

10/5/2009

Fall Break Atlantic City Trip

10/10/2009

Phidelphia Premium outlets shopping trip: winter clothing

10/31/2009

Thankgiving Dinner

11/26/2009

de-stressing: Finals

12/11/2009

SEMESTER TOTAL:

## onal Students - Fall 09

0

ITEM	Quantity	Price	Total Needed	Total /	Awarded
Pizzas	2	\$40.00			
Soda 2 Liter	3			e	
			330.00		- 6
Ice-cream	8	300000000000000000000000000000000000000			
Cups/spoons		\$10.00			
Napkins		\$5.00			
topings		\$20.00	\$70.00	\$	_
				100	
Bus hire and driver from transportation office	1	\$600.00	\$600.00	\$	600
Bus hire and driver from transportation office	1	\$400.00			000
			\$400.00	\$	400
Thanksgiving dinner in SGA house for about 2	25/30 people	\$300.00	)		
- 12 12 12 12 12 12 12 12 12 12 12 12 12	50 90		\$300.00	\$	5
Catered Indian food, Desi Village, K.O.P		\$400.00	)		
na antonia a contrationa a a a a a a a a a a a a a a a a a a		3070.000000	\$400.00	\$	2
			\$1,820.00	S	1,000

## **Bryn Mawr-Haverford Anime Club**

Contacts:

President: Erin Revia, erevia@brynmawr.edu, (650) 922-7140, C-816 Treasurer: Michelle Beard, msbeard@brynmawr.edu, (580) 678-6259, C-32

EVENT	ITEM	Quantity F	Price	Total Needed	Tota	l Awarded
Freshman Welcome						
Tentative: Sept. 25	Japanese Candy	10	\$2.50	\$25.00	\$	25.00
Tsukiyomi Matsuri						
Tentative: Mid November	Sushi	10	\$8.00	\$80.00	\$	80.00
	Japanese Candy	10	\$2.50	\$12.50	\$	12.50
Katsucon Hotel Costs						
Feb. 12-14	Hampton Inn (2 nights)	5	\$298.00	\$1,490.00	\$	-
Note: All ready reserved	Gaylord Convention Center (2 nights)	5	\$338.00	\$1,690.00	S	1,690.00
Note: About 20 people				67.55		
SEMESTER TOTAL:				\$3,297.50	\$	1,807.50

## **Amnesty International (formerly One World)**

Contacts:

President: Sara Alcid, salcid@brynmawr.edu, 208-788-9347, Box C-349 Secretary: Nour Seikaly, nseikaly@brynmawr.edu, 215-760-5392 Treasurer: Rose Heithoff, rheithoff@brynmawr.edu, 908-797-2461

EVENT	ITEM	Quantity	Price	Total Needed
Weekly Expenses				
N/A	International Stamps	600	\$0.94	\$564.00
	Boxes of Envelopes	6	\$2.49	
	Bags of Candy for Tabling	6	\$3.00	
Semester Supplies N/A	Pens	2	\$2.79	\$5.58
No.	Bags of Lollipops	3	\$2.99	\$8.97
Awareness Event				14, 2002000
November	Undecided Food Items			\$75.00
	Undecided Prize Items			\$50.00
	Amnesty International Merchandis	8		\$60.00
	Undecided Beverages			\$30.00
Regional Conference				
October 23-25	Registration Fee	8	\$30.00	\$240.00
Richmond, VA	Hotel Room	2	\$89.00	\$178.00
	Transportation- Greyhound Bus	8	\$56.00	\$448.00
SEMESTER TOTAL:				\$1,692.49

#### Total Awarded

\$564.00 \$14.94 \$15.00

\$0.00

\$0.00 \$0.00 \$0.00 \$0.00

\$200.00 \$0.00 \$0.00

\$793.94

## **Apiary Association**

Contacts:

President: Larken Wright Kennedy, lwrightken@brynmawr.edu, 434.989.5670

Vice President: Hope Fillingim

Secretary: Laryssa Hamersky
Treasurer: Briana Bellamy, bbellamy@brynmawr.edu, (925) 300-6574, Box C-1474

EVENT	ITEM	Quantity
Apiary Interest Tea	4 oz jars of regional honey Natural Herbal Teas	5 5
Harvesting & Bee Care (up	1 Table 1 Tabl	
	Honey Jars Jar Labels (pk of 250) Sugar, 5 lb bag	1 5
New Hive Equipment	shallow supers frames	4 36
	foundation	36
	classic hooded bee suit	2
	hive tool	3

Price Total Neede Total Awarded

\$10.00	\$50.00	\$50.00
\$10.00	\$50.00	\$0.00

\$9.95	\$9.95	\$0.00
\$6.00	\$30.00	\$30.00
\$ 11.00	\$ 44.00	\$ 44.00
\$ 1.00	\$ 36.00	\$ 36.00

\$ 1.15 \$ 42.00 \$ 42.00 \$ 110.00 \$ 220.00 \$ 220.00 \$ 12.95 \$ 38.85 \$ 25.90

\$520.80 \$447.90

### Art Club

#### Contacts:

Co-President: Anna Lehr Mueser, Amueser@brynmawr.edu, 201-247-5194

Co-President: Ariel Kay, Aekay@brynmawr.edu, 512-468-6494

vice president: Angela Wang, Aawang@brynmawr.edu, 978-996-3078

publicist: Angana Roy, Aroy@brynmawr.edu, 781-974-4962

Treasurer: Louisa Foroughi, Lzforoughi@brynmawr.edu, 518-322-9945

EVENT	ITEM	Quantity	Price	Total Needed	Tota	Awarded
Studio outfitting	19" Medium Model 999 Press	1	\$1,417.00	\$1,417.00	\$	431.00
	Cushion Blankets	1	\$62.00	\$62.00	\$	21.00
	Pusher Blankets	1	\$37.00	\$37.00	\$	-
	christmas lights and power strips	12	\$8.00	\$96.00	\$	96.00
Studio supplies	Pre-cut linoleum blocks, pkg of 12	1	\$28.00	\$28.00	\$	28.00
	Inks	10	\$4.00	\$40.00	\$	-
	Incidental expenses	misc.	\$300.00	\$300.00	\$	200.00
	(such as replacements and possible	unexpec	ted expenses)	112412000000		
	online shipping	misc.	\$50.00	\$50.00	\$	25.00
	fabric and ribbons	misc.	\$40.00	\$40.00	\$	-
	brayer	3	\$24.00	\$24.00	\$	24.00
	block printing paper pad	1	\$17.00	\$17.00	\$	
Class #1	artist compensation	n/a	\$1,000.00	\$1,000.00	\$	600.00
Papermaking	artist transportation	10 trips	\$200.00	\$200.00	\$	100.00
	class materials	a/n	\$200.00	\$200.00	\$	200.00
Class #2	artist compensation	n/a	\$1,000.00	\$1,000.00	\$	600.00
Clothing Making	artist transportation	10 trips	\$200.00	\$200.00	\$ .	100.00
	class materials	a/n	\$200.00	\$200.00	\$	200.00
Class #3	artist compensation	n/a	\$1,000.00	\$1,000.00	\$	600.00
Pastel Drawing	artist transportation	10 trips	\$200.00	\$200.00	\$	100.00
	class materials	a/n	\$200.00	\$200.00	\$	200.00

Class #4	: artist compen	sation.			n/a	\$1,000.00	\$1,000.00	\$ 600.00
Painting	artist transpo	rtation			10 trips	\$200.00	\$200.00	\$ 100.00
4.4	· · class material	STREET	0.		a/n	\$200.00	\$200.00	\$ 200.00
Class #5	artist compen	sation		- 3	n/a	\$1,000.00	\$1,000.00	\$
Silk Screen	artist transpo				10 trips	\$200.00	\$200.00	\$ -
	class material	s in	9	*	a/n	\$200.00	\$200.00	\$ -
Student Works Ojos de Dios Basic Drawing Carving	hops student led w	orkshop b	udgets		10	\$20.00	\$200.00	\$ 200.00
Chainmaille Silkscreen Book Binding								
Pastels								
Pen and Ink								
Stenciling								
Silkscreen								
ACCPA Partne	rship Supplies	10-11-01	i			\$250.00	\$250.00	\$ 150.00
	End of Semes	ter Celebr	ration			\$50.00	\$50.00	\$ 50.00
	End of Semes	ter Activit	ies	4.4		\$50.00	\$50.00	\$ 40.00
	Certificates of	Completi	on			\$25.00	\$25.00	\$ 10.00
Studio Event	* snacks	542,00	4		n/a	\$50.00	\$50.00	\$
Gallery Show	<ul> <li>color printing</li> </ul>	57.57			30	\$30.00	\$30.00	\$ -
400	decoration	5157M			misc.	\$15.00	\$15.00	\$ 7
Tea end of semester	snacks	47.5			misc.	\$15.00	\$15.00	\$ 
Hell Week Alte	rnative snacks	41.			misc.	\$15.00	\$15.00	\$ 15.00
SEMESTER TO	TAL:						\$9,811.00	4,890.00

### ASA

Contacts:

President: Jackie Kim, jgkim@brynmawr.edu, 267-304-6401. Cynthia Kuang, ckuang@brynmawr.edu, 917-539-9630

Secretary: Victoria Chu, vchu@brynmawr.edu, 917-836-4589 Treasurer: Ruilin Xu, rxu@brynmawr.edu, 610-513-4505

EVENT		ITEM	Quantity	Price	Total Needed	Total Awarded
Ice Cream Social						
	9/9/2009	Icecream-greentea	2	\$3.00	\$6.00	0
		Icecream-Mango	1	\$5.00	\$5.00	0
		ice-cream- vanilla	2	\$5.00	\$10.00	0
	2	icecream- yogart	1	\$4.00	\$4.00	0
				total	\$25.00	
Fall Frolic						
raii riolic	9/11/2009	Asian Specialty Candy	5	\$3.00	\$15.00	0
	5/11/2005	Publicity		\$10.00		
		1 donoity		Total	\$25.00	
Asians in Media						
	9/30/2009	Snacks				
		Shrimp Crackers	2	\$3.00	(C)	
		Candy	5			
		Drinks/soda	4	\$2.00		
				Total	\$29.00	14
Cup Noodle Study E						
	10/7/2009	Cup Noodles	40		100 PROFESSION	
		Green Tea Icecream	3	\$3.00	\$9.00	0

73 020	Soda 11		4	\$2.00	\$8.00	0 10
Philly Asian American Film F	ostival					27.7
10/09/2009-10/11/2009	Festival entrand	e tickets	15	\$15.00	\$225.00	225
	train tickets		15	\$10.00	\$150.00	0
	N.Cr. (4)		to	otal	\$375.00	
Cultural Show						
10/24/20	009 Guest Perform	er	1 5	\$1,200.00	\$1,200.00	1200
	(cost-1000, tran	sport-200)				
	Advertising					
	Color Printed La	arge Ads	25	\$2.00	\$50.00	50
5 6	Flyers			\$10.00	\$10.00	10
	Food and Refr	eshment				
	Chinese food (C	Golden China)	1	\$300	\$300	300
	Korean Food (L	etto Deli)	1	\$150	\$150	0
	Japanese food	(Sushi Land)	1	\$150	\$150	150
52 . Sale	Drinks (soda, te	a, coffee)	1	\$60	\$60	60
12.5	Asian Snacks (r	mochi, ricecake)	. 1	\$50	\$50	50
****	Supplies for C	ultural Show				
\$700	Decoration	5.65	1	\$30	\$30	0
0.1	Utensils	2 1 7	160	\$1	\$80	130
1.2	Plates		160	\$0.25	\$40	0
	Cups		3*100 \$	10.00/100	\$30.00	0
	Afterparty of F	estival				
	DJ		1	\$400	\$400	400
	Miscellaneous	Items				
CONTRACTOR CONTRACTOR	Gifts ( for perfor	mers and volunt	40	\$6.00	\$240.00	160
	Thank you Card		10	\$2	\$20	20
	Senior Gifts		15	\$5	\$75	75
			to	otal	\$2,885	

Annual Election 11/4/2009	Snacks	3	\$3.00	\$9.00	
	Soda/Drinks	3	\$2.00	\$6.00	
	Chocolate gifts	10	\$5.00	\$50.00	
	(for old/new board members)				
		Т	otal	\$65	
Asian Women Identity Discussi	on				
11/18/2009	chips and crackers	3	\$3.00	\$9.00	
	candy	5	\$3.00	\$15.00	
	220	т	otal	\$24.00	
Wongfu Production					
11/25/2009	Performance Cost	1	\$650	\$650	
	Transportation and Hotel	1	\$200	\$200	
		Т	otal	\$850	
				\$4,315.00	\$2,854

### **Budget for BMC Athletic Association**

The purpose of the Athletic Association is to unite the athletic community, and to make athletics a more visible, active part of the greater Bryn Mawr community.

3 . . .

### Contact Information:

President: Caroline Heffernan Box C-199 412-401-7785 cheffernan@brynmawr.edu

Treasurer: Miranda Gordon-Zigel Box C-569 410-978-0705 mgordonzig@brynmawr.edu

Vice President: Akua Nyame-Mensah Box C-336 267-357-5722 anyanemens@brynmawr.edu

Secretary: Manya Steinfield Box C-1221 774-249-8857 msteinfield@brynmawr.edu

Public Relations: Gabby Marangell Box C-789 978-578-1556 gmarangell@brynmawr.edu

Campus-Wide Events	· · · · · · · · · · · · · · · · · · ·	Price
31st Annual Athletic Association	Banquet	
Recognizes the athletic achieven	nents throughout the academic year.	
1 teneros	Linens	8
, . Hist Bridge	Dinner Buffet	25
Gold Games		
Fosters inter-team cooperation a	nd support.	
Posta	Prizes	10
Parents' Weekend Athletics Pan	el	
Organizes student-athlete	es and coaches to dicuss the athletic experience.	
0.00	Cookies	0.8
The Maria	Drinks	2
Snowflake Social		
Celebrates/thanks	assembly members for hard work and dedication	
	Cookies	0.8
257.25	Drinks	2
General Body Meetings		
1.156.14.16	Table Tents	2
Alumnea Panel		
Discussi	on on how athletics translates to professional life	
THE RESERVE STREET	Gifts for alumnae speakers	20
\$10.00	Cookies	0.8
\$70 (4740d)	Drinks	2

Size of Club: Serves approx. 200, 50-60 attend bi-weekly meetings

### BACaSO Fall '09 Budget

#### Contacts:

Co President: Debbie Ahenkorah dahenkorah@brynmawr.edu (484) 620 7617 Co President: Natasha Gritens ngittens@brynmawr.edu (617) 592 0659 Treasurer: Thembi Mdachi tmdachi@brynmawr.edu (516) 710 5238

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded	Total Spent
	Pizza					
BACaSO Welcome Social		100			***	
25-Sep	Drinks	5	\$2.00	\$10.00	\$10.00	
The purpose of this annual event is to welcome freshwomen and the Bryn Mawr community at large into the organization and describe our goals. This event includes dinner, dessert, a presentation of	VACCE OF THE PARTY					
gifts and entertainment by BACaSO members.	Pizza	. 8	\$12.50	\$100.00		
	Ice Cream	4	\$3.00	\$12.00		
	Supplies					
	Utensils (cups, spoons, etc.)	8	\$2.00	\$16.00		
	Gifts (shirts)	10	\$10	\$100		
	Streamers	2	\$1.00	\$2.00		
	Balloons	12	\$3.00	\$36.00		
	Advertising (Fliers)		\$25.00	\$25.00		
				\$301.00	\$200.00	
Food Demo						
24-Oct This annual event is made to introduce the Bryn Mawr community to African and Caribbean culture via the medium of food. BACaSO members cook dishes for the community as well as get catered	Advertising (Fliers)		\$25	\$25.00	\$25.00	
food. All are welcome to attend.	Catering					
	Fried Plantain	1	\$85	\$85	\$0.00	)
	Rice	1	\$95	\$95.00	\$0.00	)
	Food (for preparation)	10	\$30	\$300.00	\$300.00	)
	Supplies					
	Streamers	2	\$1	\$2.00	\$0.00	)
	Balloons	12	\$3	\$36,00	\$0.00	)
	Utensils	8	\$2	\$16.00	\$16.00	
	Drinks (cans)	3	\$10	\$30.00	\$20.00	i
	2			\$589.00	\$336.00	
BACaSO Party						
November	DJ	31	\$500	\$500	\$400	

BACaSO Fun Friday(Sisterhood & Mujeres)

December Snack a In an attempt to foster sisterhood and Mujeres among its members, BACaSO would like to participate in the Fun Friday that has been orgnanised for the three groups in December. This event will be held at Perry house and each group has to contribute \$25 dollars for participation as well cover costs for the expenses that are going to incurred.

\$25 25

\$25

\$25

25

#### **BACaSO Cultural Show**

30-Jan

This annual event is made to exhibit to the Bryn Mawr community to African and Caribbean culture via the medium of a cultural show. Some of the activities performed are fashion show, poem reading and dramas. All are welcome to attend.

Supplies

Balloons         24         \$3           Streamers         5         \$1           Utensils         4         \$15           Performers         \$600	\$72 \$5.00 \$60 \$600 \$20
Utensils 4 \$15 Performers \$600	\$60 \$600
Performers \$600	\$600
Performers \$600	4.000
	\$20
Publicity 50 \$0.40	
Catering	
Pilau Chicken 1 \$150	\$150
Fried Plantain 1 \$85	\$85
Rice 1 \$95	\$95
Baked Whiting 1 \$150.00	\$150
\$	1,237 700
Black Love Formal BACaSO's role in this Tri-College event is to contribute \$250 to help accommodate food and decorations  1 \$250	\$250 250 \$250 250
Spoken Word Event	
Performer \$600	\$600 0
BACaSO Stress Buster	
December Snacks 1 \$25	\$25 0 \$60 0
Transportation 1 \$60	560 0
	\$85
SEMESTER TOTAL: \$2.5	987.00 \$1,911.00

### Fali 2009 Budget - Batten

Tan 2007 Dauget - Datten		
Needs/Activities Food for Dinner Guests	Amount Requested \$1,200	Amount Awarded \$1,200
We invite college community members to our home four days per week to share the experience of amazing vegan cuisine. This past fall, approximately 300 guests turned out.		
Transportation Fare	\$130	\$25
In order to purchase our weekly local produce from the Clark Park Farmers Market, we have calculated the need for 56 tokens at bulk rate of 10 for \$14.50 (comes to \$87); 56 transfers @ .75 each (comes to \$42).		
Fall Harvest	\$250	\$50
An afternoon-long event open to campus we old every fall in which we invite all community members to our home for a grand fall-themed feast and entertainment.		
Professor Dinner	\$300	\$100
Each semester, we hold a dinner for professors and their families. Quoting one professor of last fall's event, "One of the nicest evenings ever at Bryn Mawr College."		
Staff Dinner	\$300	\$100
We are planning a dinner for staff and their families similar to our professer dinner due to the success of professor dinner and at the request of several staff members who have expressed the desire for a night of their own.		
Guest Speakers and Performers	\$300	\$25
We hope to invite several guests to Batten and host unique and exciting events for the whole campus. Specifically, speakers from Fair Foods, a local organization dedicated to bringing locally grown food into the Philadelphia marketplace and promoting a humane, sustainable agriculture for the Greater Philadelphia region, and hold a screening of King Corn followed by a question and answer session with the film		
makers.	\$400	\$200
Kitchen Apliances  Our kitchen is missing few key appliances. We would like to purchase a new set of knives, yogurt maker, cook books, and pasta maker among others.	\$400	\$200
Prospective Students Open House For the past several semesters the Admissions office has contacted us to hold a tea for prospective students to give them a tour of the house and answer any questions they have pertaining to Bryn Mawr student life.	\$200	\$50
Cranberry Bog	\$420	\$0
We would like host a field trip to a cranberry bog with members of the house and other interested non-Batten students. We have calculated the cost based on 10 students at \$30 each and campus van rental (\$20 per day and \$100 for milage).	1.2770	
Batten Cookbook	\$27	50
Every year Batteniks compile their favorite recipes into a cookbook for personal use and for the House record. The cost of printing and binding at the Bryn Mawr Copy Center is copies at about \$.02 per page, with 30 pages in each book and 20 books total is \$12. Binding each book at \$.75 per book is \$15.	195707	975
Total	\$3,527	\$1,750

Treasurer: Auhree Gabbard, Lauren Russell

Aubree- (303)725-2470 /box 1331 Lauren - (908)500-2136 / box 731

agabbard@brynmawr.edu, Irussell@brynmawr.edu

Leaders: Kathy Zager, Laura Kelly-Bowditch, Sophia Wolfenden, Louisa Amsterdam, Giang Trang, Aubree Gabbard, Lauren Russell, Laura Boyle, Pia Crawford-Silva, Katherine Sepulvede, Stephanie Trott, Kelsey McMillen, Adrienne Webb

Members: 13 Meetings: weekly

## Bi-College Flute Choir, Fall 2009 Budget

Contacts:

President: Sara Marcus semarcus@brynmawr.edu, 610-331-1744 Treasurer: Celia Turner ctturner@brynmawr.edu, 218-355-0390

Item	Amount Requested	Amount Budgeted
Carol of the Bells (ed.Edwards) (sheet music)	\$13.00	\$13.00
Deck the Halls (ed.Christensen (music)	\$10.00	\$0.00
Flute Choir Warm-up Book	\$10.00	\$10.00
Korg Tuner-Metronome Combo	\$36.00	\$0.00
Staples File Crate	\$8.00	\$8.00
Staples Hanging File Folders	\$12.00	\$7.00
Director x1 Concert (90 min.)	\$90.00	\$90.00
Director x3 rehearsals	\$180	\$175
Food for Concert Reception	\$40	\$0
Semester Total	\$399.00	\$303.00

# **BrANCH Out! Outdoors Club**

#### TOTAL NEEDED TOTAL AWARDED

187.2 100 187.2 100 39

120 120

533.4 320

## BrANCH Out! Outdoors Club

Contacts:

President: Renee Byer, rbyer@brynmawr.edu

Vice President: Meegan Winslow, mwinslow@brynmawr.edu (no phone currently), Box C-1450

Treasurer: Laura Webb, lwebb@brynmawr.edu

909-992-2930, Box C-369

252-292-2926, Box C-813

EVENT	ITEM	QUANTITY	PRIC	E of ONE
Camping Trip at French Creek State Park				
9/26-27/2009	BMC Van rental day 1		3	62.4
	BMC Van rental day 2		3	62.4
	Camp site fee- one nigi	ht	1	39
(42.4 miles away)				
(approx 20-25 people)				
5 Mile Hiking Trip				
HETTA CONTINUE CONTINUE CO	11/15/2009 BMC Van rental day 1		3	40
(10 miles away)				
(approx 20-25 people)				

SEMESTER TOTAL:

### **Breakdance Club**

Contacts:

President/Treasurer: Kate Gettinger, kgettinger, 410 917 3606 Vice President: Angela Wang, aawang, 978 996 3078

EVENT	ITEM	Quantity Price		Total Needed	Tota	l Awarded
Breakdance in Philly End of October - December	R5 tickets	30 \$	\$5.00	\$150.00	\$	65.00
Crew T-Shrits						
October	T-Shirts		5.00			-0
	Transfer Paper	10	\$2.00	\$20.00	\$	51
Knee Pads October	Knee Pads	5 pairs \$2	20.00	\$100.00	\$	100.00
SEMESTER TOTAL:		§.		\$320.00	s	165.00

## BRYN MAWR ISRAEL COALITION (BrIC) CONTACTS

Co-President: Hilary Polak, hpolak@brynmawr.edu, 203-274-0217 Co-President: Liz Silow, esilow@brynmawr.edu, 215-620-7009

EVENT	100		ITEM	<b>Quantity Price</b>	<b>Total Needed</b>	Total Awarded
Adam McKinney		5	Speaker	2,500	1,000	500
Khaled Abu-Toameh			Speaker	500	500	250
Homosexuality in Israel	7. 170		Speakers	~ 500	~ 500	150
Think Green, Think Blue		200	Powerpoin	t 200	200	0
Food for all events			Food	300	300	250
Semester Total:					2,500	1,150

2.55

## **Bryn Mawr Unitarians Need Support**

Contacts:

President: Ellen MacInnis, emacinnis@brynmawr.edu, 540-414-4448 President: Claire Jensen, cejensen@brynmawr.edu, 617-694-6814 Treasurer: Kim Mullane, kmullane@brynmawr.edu, 781-572-8270

EVENT	· · ITEM	Quantity	Price	Total Needed	Total Awarded
Visit to Unitarian Uni	versalist Society				
September	Van	1 day	\$20.00	\$20.00	20
020000000000000000000000000000000000000		20 miles	\$1.00	\$20.00	20
	Van Certification	1	\$20.00	\$20.00	20
Visit to Unitarian Uni	versalist Society				
October	5-14	1 day	\$20.00	\$20.00	20
		20 miles	\$1.00	\$20.00	
Visit to Unitarian Uni	versalist Society				
November	Van	1 day	\$20.00	\$20.00	20
		20 miles	\$1.00	\$20.00	20
Visit to Unitarian Uni	versalist Society				
December	Van	1 day	\$20.00	\$20.00	20
	117	20 miles	\$1.00	\$20.00	20
Advertisement Suppl	ies				
	Color Posters	120	\$0.50	\$60.00	0
Meeting Supplies					
meeting cuppiles	Food			\$60.00	0
SEMESTER TOTAL:				\$300.00	180

### **CARE CARDS**

Contacts:

President: Mithila Rajagopal, mrajagopal@brynmawr.edu, 530-574-1925 Contacts: Mahvish Qureshi, mqureshi@brynmawr.edu, 2015626267

EVENT	ITEM	Total Needed	Total Awarded	197
General Supplies	Construction Paper, card decorations, and craft supplies, including markers, crayons, glitter pens, and large mailing envelopes	\$60	\$20	
Postage	Cards being sent out nationally and internationally postage, stamps and packaging	\$60	\$55	
Halloween Card Drive	Sweets and candies for about 20 people	\$15	0 -	
Thanksgiving Card Drive	Card drive food for about 20 people	\$40	\$20	
Holiday Party	End of semester holiday party for collecting cards for the final drive before break. Food for about 30 people	\$80	\$55	
		\$255	\$150	

### Class of 2010

sjsingh@brynmawr.edu (856) 905-1553 C-599

EVENT

Senior Cocktail #1: A Black and White Affair

	ITEM	Quantity	Price	Total Needed
24-Sep-09				
	Charge for breakdown Rhoads Din	misc	\$87.50	\$87.50
	DJ (Nikki Lopez)	misc	\$200.00	\$200.00
	Vocal Equipment	misc	\$100.00	\$100.00
	Table cloths	10	\$2.50	\$25.00
	Helium tank and balloon package (	1	\$72.99	\$72.99
	*includes tank, 144 balloons (all year), se	ealing disk and ribbo	on	\$0.00
	Plates and Napkins	misc	\$25.00	\$25.00
	Decorations (streamers, confetti)	misc	\$25.00	\$25.00
	Roses	misc	\$15.00	\$15.00
	Velvet Rope Stand Rental	2	\$12.00	\$24.00
	Velvet Rope Stand Rental	1	\$4.00	\$4.00
	Strobe Lights	misc	\$50.00	\$50.00
	Paper Menus/Advertising	misc	\$25.00	\$25.00
	Cups	case of 1000	\$78.00	\$78.00
	2 ltr Soda	4	\$3.00	\$12.00
	Tonic Water	12	\$1.65	\$19.80
	Pomegranate Juice	7	\$3.99	\$27.93
	Cranberry Juice	7	\$2.99	\$20.93
	Martini mix	15	\$4.19	\$62.85
	Spring Rolls	100	\$0.85	\$85.00
	Vegetable/Appetizer Plate	2	\$8.99	\$17.98
	Crackers	4	\$5.00	\$20.00
	Cheese	4	\$5.60	\$22.40
	Black&White Milano Cookies	10	\$3.99	\$39.90
	Ice	5	\$1.00	\$5.00
Total:				\$1,065.28

#### Senior Cocktail #2: SENIORitas (based on 2009 budget) late October/early November Fiesta Serving dishes \$10.00 \$10 Margarita glasses \$60.00 misc. Limbo kit \$10.00 \$10.00 Sombrero cooler \$5.00 \$5.00 Margarita lights \$8.00 \$8 \$10.00 \$10.00 Rainbow balloon lanterns \$5.00 \$5.00 Fiesta table runners 2 Regular balloons 24 \$27.00 \$27.00 Chips \$20.00 4 \$5.00 Salsa \$4.00 10 \$40.00 Small plates \$10.00 \$20.00 Sprite \$2.00 \$10.00 Margarita Mix 30 \$5.00 \$150.00 \$150.00 \$150.00 DJ Total: \$525.00 Senior Cocktail #3: Finals Week = Pizza and Wings late November/early December Large Pizzas (Bryn Mawr Pizza) \$16.00 \$300.00 discount 10% off Buffalo wings 100 \$48.00 \$48.00 \$10.00 Small plates 2 \$20.00 Paper towels \$7.99 pack of 100 \$7.99 \$375.99 Total:

Blue Bus t-shirt

Total:

Shorty is a '10 reorder

500 (school-wide sale)

: 25 (based on pre-order)

\$2,200.00

\$2,400.00

\$200.00

\$4.14

\$8.00

Senior Week Events

Fundraiser: Blue Bus tshirt/Shorty is a '10 reorder

Champagne flutes Dave and Busters

375 Based on '09 budget

\$2.15 \$806.25 \$6,500.00 \$7,306.25

Total:

\$11,672.52

SEMESTER TOTAL:

## Total Awarded

\$ 2
\$ -
\$ 100.00
\$ 25.00
\$ 72.99
\$ 25.00
\$ 25.00
\$ 15.00
\$ -
\$ 
\$ 50.00
\$ _
\$ 78.00
\$ 12.00
\$ 19.80
\$ 27.93
\$ 20.93
\$ 62.85
\$ 85.00
\$ 17.98
\$ 20.00
\$ 22.40
\$ 39.90
\$ 5.00
\$ 724.78

\$10 \$60.00 \$10.00 \$5.00 \$8 \$10.00 \$5.00 \$27.00 \$20.00 \$40.00 \$150.00 \$150.00 \$525.00

\$ 300.00 \$ 48.00 \$ -\$ -\$ 348.00

\$ 2,200.00 \$ 200.00 \$ 2,400.00 \$ 806.25 \$ 6,500.00 \$ 7,306.25

\$ 11,304.03

# Class of 2012, events.

Contacts:

President: Liana Donahue, Idonahue@brynmawr.edu, (504)251-3596

EVENT	ITEM	Quantity Price	Total Needed	Total Awarded
Lizard Keychains	Keychains	450 n/a	\$900.00	750
Water Bottles	Water Bottles	25/cases \$8.	\$200.00	200
Cupcake Decorating Social/Fund				
Sept.25.09 (TBD)	Plain Cupcakes Sprinkles, Icing, Chocolate Chip	125 \$1.0 varies varies	00 \$125.00 \$30.00	
	Streamers	3/rolls varies	\$10.00	
	Forks, knives, napkins	varies varies	\$20.00	
Hot Chocolate Social				
Nov.12.09 (TBD)	Cookies	4/boxes \$4.		
	Hot Chocolate Packs	4/boxes \$4.		1. 10.500
	Juice/Chips	varies varies	\$16.00	16
De-stresser Karaoke Night				
Dec.10.09 (TBD)	Juice/Chips	varies varies	\$16.00	16
	Cookies	4/boxes \$4.	00 \$16.00	16

SEMESTER TOTAL:

\$1,365.00 1205

# The Bi-College News

#### Contacts:

Editor in Chief: Alex Stratyner, astratyner@brynmawr.edu, (914) 715-9346, Box 497 Managing Editor: Michael Novinson, mnovinso@haverford.edu, (248) 310-4186 Business Manager: Cameron Scherer, cscherer@haverford.edu, (510) 219-4144

I ne bi-College News is a weekly newspaper of bryn Mawr and Haverrord Colleges and a testimony to the bi-college relationship. We endeavor to provide representative, accurate, and fair news and information. The honor codes of both schools inform our methods. Our Editorial Board comprises 27 students who meet twice a week. We also have approximately 70 staff writers, photographers, layout assistants, and copy editors.

### ITEM

#### 12 Issues at \$1521 each

Price includes printing, folding, and delivery to Bryn Mawr and Haverford of 12 24-page blackand-white issues of the newspaper. (We fund all color printing and additional pages with subscription and advertising revenue.) This number does not include the first issue of the fall, which was published on Tuesday, September 8, but it does include the first issue of Spring 2010. See the attached publication schedule for details.

## Photo Equipment

Much of our photo equipment, due to its age, is in need of replacement. Our request for this equipment comes at a time when the Bi-College News plans to increase its web presence via the addition of more multimedia— including photo galleries and video— to our website.

Canon EOS T1i DSLR with EF- S Camera (price quote from Amazon) \$831.89 \$ 831.89 \$ 1,177.55 \$ 1,177.55 \$ 1,177.55 \$ -

Amount Requested Amount Awarded

\$18,252 \$ 18,252.00

### 5 Audio Recorders at \$29.99 each

The Bi-College News strives to provide accurate coverage of events at both Haverford and Bryn Mawr, but as our staff steadily increases in size we become less able to provide audio recorders to our reporters. Recorders allow staff writers and reporters in 8 sections—Haverford and Bryn Mawr News, Features, Arts, and Sports— to tape interviews, conferences, forums, etc..., which ensures that individuals are quoted correctly, greatly

\$149.95 \$ 59.98

SEMESTER TOTAL:

\$20,661.39 \$ 20,321.42

# THE COLLEGE NEWS

Contacts:

Editor:Nicole Gervasio ngervasio@brynmawr.edu; 609 433 6717, Box C-159

Editor: Stephanie Trott strott@brynmawr.edu; 201 523 1004 Editor: Mary Zaborskis mzaborskis@brynmawr.edu; 917 860 1402

EVENT	ITEM	Quantity	Price	Total Needed
Newspaper Production				
23-Sep	12-page Issue	1	\$535.00	\$535.00
12 12 12 12 12 12 12 12 12 12 12 12 12 1	12-page Issue	- 1	\$535.00	\$535.00
	12-page Issue	1	\$535.00	\$535.00
	12-page Issue	- 1	\$535.00	\$535.00
	12-page Issue	1	\$535.00	\$535.00
Dykes to Watch Out For Subscription	Feminist Cartoon	- 1	\$150.00	\$150.00
	Deliverty/Shipping per Issue	5	\$110.00	\$550.00
				\$3,375.00
Newspaper Software				
	Adobe CS3 Design Standard	1	\$250.00	\$250.00
End Semester College News Tea 3-Dec	Peace of Pizza Pizzas	5	\$15.00	\$75.00
On-Site Reporting		- 52		
	Round Trip Tickets to Philadel	- 1		\$4.40
FOR CONTRACT 1 AND	Round Trip Tickets to Philadel	1		\$4.40
	Round Trip Tickets to Philadel	1		\$4.40
	Round Trip Tickets to Philadel	1		\$4.40
	Round Trip Tickets to Philadel	1		\$4.40
7.737		1.00		\$22.00
a rossa a				
SEMESTER TOTAL:				\$3,744.00

# Total Awarded

## Bryn Mawr College Culinary Club, Fall 2009

Purpose: The Bryn Mawr Culinary Club was created to give students an opportunity to make their own food, share recipes from home, learn new cooking technique

Staples:	\$45	
(Need to re-sto	ck basics such as flour, sugar, olive oi	letc. to be used throughout the year)
Supplies:	\$100.	Amount Given
(muffins pans,	oven mitts, aprons etc.)	
31 W #		\$45
Meetings:	(groceries)	\$100.
Crepe /World	\$65.	\$65.
CountCtow Mid	bt egg	202

(groceries)	\$100.	50
\$65.	\$65.	55
\$65.	\$65.	55
\$65.	\$65.	55
\$65.	\$65.	55
\$65.	\$65.	55
\$65.	\$65.	55
\$65.	\$65.	0
	\$65. \$65. \$65. \$65. \$65. \$65.	\$65. \$65. \$65. \$65. \$65. \$65. \$65. \$65.

### Special Events:

Raspberry

(van rental + milegae = \$60)

(picking = \$40)

\$100.

0

30

Total \$700

410

Co-Presidents:

Miranda Bennett

C-36

mebennett@brynmawr.edu

434 960-5404

Laurel Lemon

llemon@brynmawr.edu

847 858-3873

es and make use of the student kitchen.

# PARLIAMENTARY DEBATE SOCIETY

Contacts: Presidents:

Phaedra Tinder ptinder@brynmawr.edu; (484) 683-1680

Elizabeth Bingham ebingham@brynmawr.edu; (610) 526-5743

Mariel Woods mwoods@brynmawr.edu;

Treasurer:

Tanvi Surti tsurti@brynmawr.edu; (215) 375-2697

ACTIVITIES	DETAILS	Quantity	Price	Total Needed	Total Awarded
APDA Tournaments					
Swarthmore College (Novice)	Tournament Fee	4	\$120.00	\$480.00	\$480.00
	Transportation	4	\$0.00	\$0.00	
9/25-9/26	via Swat van; per team, round-trip				
				\$480.00	\$480.00
Columbia	Tournament Fee	2	\$120.00	\$240.00	\$240.00
	Transportation	2	\$102.00	\$204.00	\$204.00
10/2-10/3	via SEPTA and Bolt Bus; per team, round-trip				
				\$0.00	\$0.00
Harvard	Tournament Fee	1	\$120.00	\$120.00	\$120.00
APDA Meeting 10/9-10/10	Transportation via SEPTA and Amtrak; per team, round-trip	1	\$160.00	\$160.00	\$160.00
				\$280.00	\$280.00
Penn	Tournament Fee		\$120.00	\$480.00	\$480.00
	Transportation			DEC	
10/30-10/31	via SEPTA; per team, round-trip		12000000	20,000,000	p
				\$640.00	
American (ProAM)	Tournament Fee	2	\$120.00	\$240.00	

SEMESTER TOTAL:				\$2,040.00	\$2,100.00
				\$70.00	\$70.00
	Timers	5	\$5.00	\$25.00	\$25.00
Supplies	Legal Pads	5	\$5.00	\$45.00	\$45.00
Club Events					
12/4-12/5	via Bryn Mawr Van			\$270.00	\$270.00
10/1 10/5	Transportation	1	\$150.00	\$150.00	\$150.00
Bucknell	Tournament Fee	1	\$120.00	\$120.00	\$120.00
	round-trip			\$300.00	\$360.00
11/20-11/21	via SEPTA and Amtrak; per team,				
Fordham APDA Meeting	Tournament Fee Transportation	2	\$120.00 \$60.00	\$240.00 \$60.00	\$240.00 \$120.00
				\$0.00	\$0.00
11/6-11/7	Transportation via SEPTA and Chinatown bus; per team, round-trip	2	\$96.00	\$192.00	****
		2	000.00	2400.00	

<sup>\*</sup>Quantity for tournaments is the number of teams; a team is two people

# BMC DEMOCRATS

Contacts:

President: Julie O'Neil juliemarieoneil@gmail.com (508) 982-4399

Vice-President: Sarina Dan sdane@brynmawr.edu

Secretary: Molly Parzen mollyparzen@gmail.com (845) 661-1093 Treasurer: Lauren Black lblack@brynmawr.edu (614) 596-7609

Events:	Quantity/Amount Reque	ste Amount Granted:	
Supplies for political events/rallies on/off campus i.e. posters, displays, literature	\$5	60	25
Educational Trip to Washington D.C. i.e. transportation to/from, admission fees	\$10	00	100
Transportation to/from political events off-campus i.e. Joe Sestak rally at Upenn in October	\$5	60	0
On Campus Healthcare Forum i.e. sponsoring, or co-sponsering, speakers on healthcare reform	\$5	50	25
	Total Requested:	\$250	150

Club Name: "Doublestar"

"President" (Fearless Leader): Amanda Pester

Phone Number: 434-334-1883 Email: apester@brynmawr.edu

"Treasurer" (Lackie): Catrina Mueller

Phone Number: 610-331-7792 Email: cmmueller@brynmawr.edu

Event	Item	Price		al Amount quested
		THE SECOND		
Monthly Marathons				
A Weekend Tea in				
September, October,	Snacks for Monthly			
November, and	Marathons (4 Months x			
December	\$35)		\$140	
				\$140
Halloween Party				Marie .
Saturday Oct. 31st? The				
day of the other parties				
	Snacks/ Drinks			
	/Silverware /Games for			
	Party		\$50	\$190
Lantern Night Tea				
Tea after Latern Night				
	Snacks + glitter		\$25	
				\$215
Baking Tea				
SGA house baking and				
movies	6			
	Cupcake mix,		\$30	
	sprinkles,icing		230	\$245
				\$245
Total Funds Requested				\$245
Semester Total		TO PARTY		
# of Members:	3	5		

Meeting Frequency

Once per week plus other teas

Total Amount Awarded

\$100

\$50

# DRUM (Developing Resonant, United Musicians)

Contacts:

President: Sara Neidorf, sneidorf@brynmawr.edu, (856)625-4293, Box C-862

Secretary: Kyla Falcon, kfalcon@brynmawr.edu, (401)354-9544 Treasurer: Molly Webb, mhwebb@brynmawr.edu, (203)559-8490

EVENT	ITEM	Quantity I	Price	Total Needed	Total Awarded
Drum set / equipment	purchase				
	5/13/2009 Ludwig Accent CS Custo	om 5 pc 1	\$513.60	\$313.60	245
	Vic Firth Sound Muffler I	Headph: 1	\$25.16	\$25.16	
	Budget drum sticks in bu	ılk 10	\$50.00	\$50.00	
	Drum Stool	1	\$60.00	\$60.00	

SEMESTER TOTAL:

\$448.76 245

Equestria	iii i caiii				
Contacts:					
Treasurer: Sarah Male	v smalev@hrvnn	nawr edu 203-824	1152 C-10	72	
Treasurer: Alex Gaude	ette. agaudette@b	rynmawr.edu 248-	760-3482		
EVENT	ITEM	Quantity	Price	Total Neede	Total Awarded
Riding Lessons					
All Semester	40 Riders	\$12.50 per lesson	\$4,000.00	\$4,000.00	\$3,200.00
	8 Lessons each	Learning to the second			Tripating and
		\$10.00			
Transportation Costs					
All Semester	Gas per trip	\$6 per drive	\$480.00	\$480.00	\$350
	10 Lessons			-	
	8 Drivers				
Showing					
All Semester	10 Riders	\$45 per rider	\$450.00	\$450.00	0
THE CONTROLL	TO TRIGOTO	Q40 per rider	<b>Q400.00</b>	<b>\$100.00</b>	Ť
SEMESTER TOTAL:				\$4,930.00	\$3,550.00

# Extreme Keys, a cappella group

### Contact:

Treasurer, Katie Link, klink@brynmawr.edu (631) 827-6103; Campus Box C-741

Pitch (President): Nina Jankowicz njankowicz@brynmawr.edu (609) 651-3317 Campus Box C-1240

The Extreme Keys is the Bi-Co's oldest all-female a cappella group, originally founded in 1981 as the "Suburban Squares." Students from Bryn Mawr and Haverford Colleges can audition to be members. Practice is three times a week for a minimum of 2 hours. We currently have 14 girls.

We hold most of our performances on the Bryn Mawr College campus. We plan to do several short tours throughout the school year. We typically have around 7-8 performances per semester.

We host a cappella groups from other colleges at joint concerts. Our music has evolved from jazz and madrigal to our current preference for alternative and pop songs.

We pull from the 60's, 70's, 80's and 90's as well as indie music from the 21st century.

Some of the group's earliest arrangements were done by people outside the group, but current pieces are arranged by group members. The songs performed by the Keys are chosen at the beginning of every semester.

ACTIVITY	DESCRIPTION	Quantity	Price	Total	Activity Subtotal
Concert Advertising					
Advertising Packet including flyers		3	\$100.00	\$300.00	
and posters to advertise Halloween,					
Holiday, and joint concerts.					
					\$300.00

ACTIVITY	DESCRIPTION	Quantity	Price	Total	Activity Subtotal
Arranging Workshop					
Professional come in to teach girls about music theory and how to arrange a cappella songs so more members will be capable of arranging	Lunch (pizza/soda)	15	\$8.00	\$120.00	
3 4 2000	Contract with Yuri Broze	1	\$275.00	\$275.00	
	V +				\$395.00
Group Shirts					
To show a uniform look when sing especially at other schools - considering working towards competing, shirts will be used for our short tours, and various concerts; Will also sell BMC shirt with slogan to raise money					
raise money	Tour shirts	14	\$10.00	\$140.00	
	Concert shirts	14	\$10.00	\$140.00	
	Fundraiser shirts	75	\$10.00	\$750.00	
					\$1,030.00
Halloween Concert Concert					
1st Major Concert of the Year and after concert party for community.					
	Soda bottles	3	\$1.75	\$5.25	
	box of cookies	4	\$6.50	\$26.00	
	Cheese assortment	6	\$7.00	\$42.00	
	Fruit assortment	6	\$5.00	\$30.00	
	Tage Control			11.00	\$103.25

ACTIVITY	DESCRIPTION	Quantity	Price	Total	Activity Subtotal
Short Tour					
Will be singing with various other groups in area - Upenn groups; Will be hosting 3 different groups throughout semester - repay for their travel expenses		el la me			
	train tickets	14	\$12.00	\$168.00	
	hosting	3	\$50.00	\$150.00	
					\$318.00
Holiday Concert					
Holiday concert and after concert party for community before Holiday break begins.					
	soda bottles	5	\$1.75	\$8.75	
X	box of cookies	6	\$6.50	\$39.00	
	cheese assortment	8	\$7.00	\$56.00	
	fruit assortment	8	\$5.00	\$40.00	
					\$143.75
Welcome to Newbies Tea					
Welcome to group for new members bonding activity					
	cheese pizza	5	\$10.00	\$50.00	
					\$50.00
Keys Holiday Tea	-				
Group bonding - end of semester -					
X We	Sushi Land	14	\$10.00	\$140.00	
					\$140.00

ACTIVITY	DESCRIPTION	Quantity	Price	Total	Activity Subtotal	
Recording		- 1			and the	Tradese
Need to record senior solos and all	7. 2	S-1	-		+10 m m m m m m m m m m m m m m m m m m m	Mark Control
new songs					visit in	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	Milkboy \$100/hr	. 8	\$100.00	\$800.00	5177 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
THE RESERVE OF STREET	1	26 +			\$800.00	One governal s
CEMECTED TOTAL				62 200 00	62 200 00	Street, and the street of the
SEMESTER TOTAL:		4		\$3,280.00	\$3,280.00	Carrier and the Control of the Contr

# **DARLING**

Contacts:

President: Emily Ledford (eledford@bmc), Margaux Kearney (mkearney@bmc)

EVENT	ITEM	Quantity P	rice	Total Needed	Total	Awarded
Project Linus						
October TBA	Yam	10	\$3.00	\$30.00	\$	20.00
	Fleece	40 yards	\$5.00	\$200.00	\$	180.00
	Fiskers	1	\$10.00	\$10.00	\$	10.00
	Snacks	assorted	\$20.00	\$20.00	\$	20.00
Kisses for Kyle						
Oct/Nov	Fundraiser			\$20.00	\$	20.00
TOTAL				\$280.00	\$	250.00

SEMESTER TOTAL:	 *	9.50
		4
		7.4

# **Fall Student Dance Concert**

Contacts:

President: Caitlin Iles, ciles@brynmawr.edu, (608) 628-2513 Vice President/Treasurer: Emily Altiere, ealtiere@brynmawr.edu, (303) 807-6469

EVENT	ITEM	Quantity	Price	Total Needed	Tota	l Awarded
Fall Student Dance Concert						
	Technical Crew			\$300.00	\$	150.00
	Publicity					
	Posters	40	\$1.00	\$40.00	\$	30.00
	Flyers	60	\$0.08	\$4.80	\$	4.80
	Refreshments					
	Food			\$125.00	S	100.00
	Beverages			\$40.00	S	40.00
	Paper Products (cups, plates,)	10		\$40.00	\$	30.00
	Costumes			\$100.00	\$	50.00
	Programs			\$50.00	\$	50.00
SEMESTER TOTAL:				\$699.80	\$	454.80

#### Budget for the Bryn Mawr Fencing Club Fall 2009

The purpose of Bryn Mawr's fencing club is too learn and practice the sport of fencing and to grow that sport on Bryn Mawr's campus (particularly since there is no longer a fencing class offered by the Athletics Department). We work with all skill levels and are building a core of competitive fencers while providing a supportive environment for new fencers.

#### Contact Information:

Co-President: Rachel Goddard Mail Box: C-165 Celt (1-646)248-9508 rgoddard@brynmawr.edu

Co-President: Dawn Hathaway Mail Box: C-1281 Celt: (1-860)885-8040 shathaway@brynmawr.edu

Treasurer Michelle Crepeau Box C-100 Cell: (1-207) 939-5729 mcrepeau@brynmawr.edu

	Amour	nt Requested	Amount Awarded
Needed Services:			
Coaching Fees To pay for the expertise and guidance of Coach Arben Latonde, necessary for our club to improve competitively and continue in our capacity as a replacement for the Fencing Class formerly offered by Athletics.			
Fees:	\$	637.50	\$637.50
USFA Dues To pay for our clubs USFA membership so that we might receive			
the benefits of being a nationally registered athletic club, including			
participating as a team in nationally ranked events.			
Fees:	\$	40.00	40
BIWCFC Dues  To pay for our club's BWCFC (Baltimore-Washington Collegiate Fencing Conference) membership so that we, as a club, are able to broaden our competitive horizons and network effectively with other clubs and teams outside of the immediate Pennsylvania area.			
Fees:	\$	50.00	0
Section Total:		727.50	0
Planed Events:			

BWCFC Meet 1 (Fall) To be able to fund the expenses of our first BWCFC meet of the year and, thus, to perticipate in the events of our division.			
Fees:	\$	135.00	
BMC Tournament Ref Fees So that we might more effectively host our first home meet of the			
season with the presence of professional referees, well versed in			
the sport and with a valid an interest in our club and our school.			
Fees	8	180.00	
Section Total:	\$	315.00	
Equipment:			
Copy of "Fencing Time" Management Software So that we may more effectively plan and officially validate the legitimacy of our first home meet of the year with the aids of professional management and tournament organizational			

software.

Section Total:

Semester Total:

50.00 50.00

\$677.50

\$ 1,092.50

# **Folk Club**

Contacts:

President: Laura Kelly-Bowditch, Ikellybowd@brynmawr.edu, 781-454-6421 Treasurer: Beth R. Miller, brmiller@brynmawr.edu, 312-404-1320, C-1022

EVENT	ITEM	Quantity Price		Total Needed	Tota	l Awarded
Contra 1						
Early November	Band	1	\$400.00	\$400.00	\$	350.00
	Caller	1	\$100.00	\$100.00	\$	100.00
	Refreshments		\$30.00	\$30.00	\$	-
Contra 2			0400.00	0.400.00		250.00
Early December	Band Caller	1	\$400.00			350.00
	Refreshments	1	\$100.00			100.00
	Keitesiilleitis		\$30.00	\$30.00		3.
Waltz Workshop						
Mid-to-late October	Workshop Leader	1	\$150.00	\$150.00	\$	100.00
	Musicians	3	\$50.00	\$150.00	\$	371
Concert						
Late November	Band	1	\$400.00			-
	Advertising		\$10.00	\$10.00	\$	-

Glenside Dance Trip Early October	Transportation (~45mi roundtrip	1 \$	20+\$1/mi	\$65.00	\$	ri.
Folk Sings	Song Books	2	\$22.00	\$44.00	\$	
Interest Tea Mid-to-late September	Refreshments	1	\$20.00	\$20.00	\$	Ξ.
General Advertising	General Advertising- 'Folk Educ:	1	\$10.00	\$10.00	s	
SEMESTER TOTAL:				\$1,909.00	\$	1,000.00

# **Greens Budget Fall 2009**

Contacts:

President: Yong Jung Cho Secretary: Abby Olson Treasurer: Ilja Hermans ycho02@brynmawr.edu 917-574-0946 aolson@brynmawr.edu 240-888-8453 ihermans@brynmawr.edu 484-535-0030

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
Environmental Leadership Co	onference Yale				
September 26th	Septa	5	\$10.00	\$50.00	
	Greyhound	5	\$76.50	\$382.50	
	Regisration fees	5	\$35.00	\$175.00	
				\$607.50	0
Tea, Greens 101 Course x2					
September 30th	Drinks	2		\$10.00	
October 28th	Hummus	2	\$3.99	\$7.98	
	Whole wheat pita	4	\$1.99	\$7.96	
	1.75lb of cut fruit	2	\$7.00	\$14.00	
	Bring your own cups!				
				\$39.94	39.94
Movie Night					
November 18th	Movie	া	free	\$0.00	
	Drinks	1	\$5.00	\$5.00	
	Hummus	-1		\$3.99	
	Whole wheat pita	2		\$3.98	
	1.75lb of cut fruit	- 1	\$7.00	\$7.00	
				\$19.97	19.97
Field Trips					
October 4th	Van certification	1	\$20.00	\$20.00	50
	Van rental	1	\$20.00	\$20.00	r i

	Miles	27	\$27.00	\$27.00	
	Donation for the Farm	1	\$20.00	\$20.00	
				\$67.00	67
Tote Bags Fundraiser					
	Advance for bags:	100	\$0.99	\$100.00	
	Advance for paint: 3 cans	3	\$5.00	\$15.00	
	Price asked for bags		\$5.00		
	Total Amount earned:	5	00-120		
				\$115.00	115
	Profits:		\$380.00		100
SEMESTER TOTAL:				\$849.41	241.91

# **GymOwls Gymnastics**

Contacts:

President: Madeline Vellturo, mvellturo@brynmawr.edu, (978) 505 7254

EVENT		ITEM	Quantity	Price	Total Needed	Tota	al Awarded
Fall Frolic							
	9/11/2009	Poster Board	1	\$0.35	\$0.35	\$	-
		Candy	1 bag	\$3.49	\$3.49	\$	
Practice (Weekly)							
9/25-12/10		Gym Time	12	\$20.00	\$240.00	\$	150.00
		Van Rental	12	\$20.00	\$240.00	\$	200.00
		Van Rental Gas (per mile)	11.4x12	\$1.00	\$136.80	\$	114.00
		Coach Salary	12	\$40.00	\$480.00	\$	240.00
Equipment							
0000		Mat (10'x16')	2	\$35.00	\$70.00	\$	-
Team Dinner							
TBD		Pizza	2		\$28.98	\$	
		Bread Sticks	2	\$3.99	\$7.98	\$	
		Soda	3	\$0.79	\$2.37	\$	-
		Cup Cakes	1 pack	\$6.79	\$6.79	\$	

SEMESTER TOTAL:

\$1,216.76	\$	704.00
------------	----	--------

# NAME OF CLUB - Harvest Christian Fellowship

Contacts:

President: Danielle Pan, dpan@brynmawr.edu, 917-628-7954 Secretary: Meldon Jones, mdjones@brynmawr.edu, 757-332-7219

Treasurer: Danielle Pan & Meldon Jones

EVENT	ITEM	Quantity Price	Total Needed	Total Awarded
Friday Night Live: UPENN, 22	mi			
Every Friday: 16 mtgs. Per Sem.	Transportation	(1 van x( \$20/van)+(\$1.00/mile) x 22 r	mi \$672.00	\$588.00
Sunday Church Service				
Every Sunday: 16 mtgs per Sem	. Item 1	(1 van x( \$20/van)+(\$1.00/mile) x 22 r	mi \$672.00	\$126.00
Intro Night				
9/8/2009 candy		\$9.0	0	
	prizes/props	\$19.0	0 \$28.00	\$0.00
	Item 3			
	Item 4			
Frosh-Soph Retreat (Camp Men	olan)			
9/19/2009 transportation		(1 van x( \$20/van)+(\$1.00/mile) x80 n	nil \$100.00	\$100.00
	Registration (6 freshmen/soph)	6 \$20.0		\$0.00
Campus Outreach				
Date To Be Decided	Flyers	\$40.0	0	
	Posterboard	\$10.0	0	
	Baking supplies	\$40.0	0 \$90.00	\$90.00
Mini-Olympics	Transportation	(1 van x( \$20/van)+(\$1.00/mile) x 22n	nil \$42.00	\$42.00
min Olympios	Team Shirts	35 \$10.0		

SEMESTER TOTAL:

\$2,074.00

\$1,196.00

The Harvest Christian Fellowship is an interdenominational group open to all and is meant to be a safe place for Christians and non-Christians alike. The members participate in the fellowship through tri-weekly meetings: mid-week meetings on Tuesdays, where special speakers are often invited to share, large group meetings on Friday nights and Sunday morning services at church. Leadership training is also provided to student leaders on Saturday mornings.

HCF encourages small group Bible studies, prayer and often hosts talks and informal workshops on topics pertinent to the Christian faith.

HCF is associated with Grace Covenant Church (www.gracecovenant.net) located at the campus of University of Pennsylvania.

Its location permits BMC students to network and regularly meet up with members of the larger Philadelphia university community.

There are about 18 regular members of HCF at Bryn Mawr College and these members regularly interact with members of other faith-based communities.

# Hepburn's Closet Fall 2009 Budget

President: Soo Lee (Box C-247) (484)680-4348

cslee@brynmawr.edu

Secretary: Pamela Burt (Box C-362)

pburt@brynmawr.edu

Co-Treasurer: Eri Koike (Box C-235) and Elaine Choi (Box C-81)

ekoike@brynmawr.edu schoi@brynmawr.edu

### Size of Hepburn's Closet:

Official Staff Members: 20

Readership: 400

### Activities

## Magazine Release Party (December 3rd 7-9 pm)

Catering (Joseph's Catering) (\$10 x 50)

Drinks (Soda, Tea, Sparking Cider) (\$4 x 50)

Utensils (Forks, Spoons, Knives, Plates, Napkins)

Decorations (Streamers, Balloons, Party Bags, Table Cloths)

SUBTOTAL

### Fashion Show (November 18th 6-9 pm) (Expected 75 people)

Publicity (Posters, Mailbox Stuffings, Flyers and Table Tents)

Decorations (Streamers, Table Cloths, Balloons)

DJ

Drinks (Soda, Sparkling Cider)

Cups and Napkins

Thank You Gifts for Fashion Show (Hair and Makeup stylists) (5 stylists x \$25)

SUBTOTAL

## **Photo Shoots**

Transportation (12 people x \$8.50 R5 roundtrip tickets)

SUBTOTAL

### Magazine Printing

Printing Issues (400 copies x \$5)

SUBTOTAL

## SUBTOTAL

tamount padeoroa	Tallouise Hoodiffoa
\$500	
\$200	
\$50	
\$50	
\$800	]
\$100	
\$50	
\$400	
\$250	
\$50	
\$125	
\$975	]
****	
\$102	
\$102	J
\$2,000	
\$2,000	\$ 250.00
\$3,877	\$ 250.00

Amount Received

Amount Budgeted

# **Hula Club**

Contacts: Colette Young, Moira Nadal, Sarah Maley

President:Colette Young, cyoung@brynmawr.edu, 1(240) 277-1407 Box 244C

Secretary: Sarah Maley, smaley@brynmawr.edu, (203) 824-1152 Treasurer: Moira Nadal, mnadal@brynmawr.edu, (410)4023701

Item	amount/item	Amount needed/ski	rt Total/skirt	Gran	d Total	Tot	al warded
	amoung item	ranount neededy sa	it rotay start	G.G.	G 10131		raraca
skirt tassels	12 for \$12		24	\$24	\$360	\$	285.00
shell rosettes	12 for \$2		5	\$0.85	\$12.75	\$	12.75
Under skirt	1yd/\$1.30	1/2 yd		0.65	\$9.75	\$	9.75
Skirt belt	1yd/\$1.75	1/2 yd		\$0.87	\$13	\$	13.05
Feathers	3 sets for \$2	1 set		\$0.66	\$3.30	\$	3.30
Cardboard		1 less than 1/2		\$0.50	\$1.00	\$	1.00
Headband	1yd/\$1.75	1/2 yd		\$0.87	\$13	\$	13.05
Rosette	1 for \$0.50		1	\$0.50	\$7.50	\$	7.50
Ribbon Ties	1 for \$0.10		2	\$0.20	\$3.00	\$	3.00
shell rosettes	12 for \$2.00		1	\$0.16	\$2.40	\$	2.40
Hula culture							
show		\$100			100		
					\$526	\$	350.80

# **IMPACT**

Contacts:

President: Mithila Rajagopal, mrajagopal@brynmawr.edu, 5305741925 President: Anne Shrestha, ashresth02@brynmawr.edu, 6074258018 Secretary: Kiran Bhardwaj, kbhardwaj@brynmawr.edu, 4023145966

EVENT	ITEM	Quantity F	Price	Total Needed
Speaker (Dr. Geeta Mehta)				
Nov 23rd (tentative)	Train Ticket (Amtrak) rountrip	1	\$80.00	\$93.25
60 50	Train Ticket to center city	1	\$8.25	
	Colored posters for publicity	3	\$5.00	\$2.50
Lecture Series - 1st				
October 12th (Tentative)	Cookies	4 boxes	\$12.00	\$3.00
	Soda	1 litre	\$3.00	
Lecture Series - 2nd				
November 12th (Tentative)	Cookies	4 boxes	\$12.00	\$3.00
3 3	Soda	1 litre	\$3.00	
Lecture Series - 3rd				
December 10th (Tentative)	Cookies	4 boxes	\$12.00	\$3.00
	Soda	1 litre	\$3.00	
Debate between Professors November 19th (Tentative)	Colored posters for publicity	3	\$5.00	\$2.50
SEMESTER TOTAL:				\$107.25

Total Awarded

## International Justice Coalition (IJC)

- Mission of Club:

  \* To unite concerned students in the Bryn Mawr community through creative means of awareness.

  \* To foster a spirit of compassion and solidarity within the community through student discourse and action.

  \* To encourage student initiated education about worldwide issues and move towards becoming a well-informed community.

Contacts: Co-President: Eri Kolke, ekolke@brynmawr.edu, 908-285-6451 Co-President: Nimnah Najeeb, nnajeeb@brynmawr.edu, 646-202-0926

EVENT	ITEM	Quantity	Price	Amount Budgeted	Amount Received
Introductory Tea Late September	Food - Cookie Platterlother snacks Coloured Paper for Brochures	5	\$6.00 \$15.00		
	SUBTOTAL			\$45.00	
Second Tea for Members Late October	Food - Cookie Platterlother snacks Coloured Paper for Brochures	5			
	SUBTOTAL			\$45.00	
Material for New Co-Coordin	ators				
	Binders Post-It markers Sharples	5 3 1	\$5.00 \$4.00 \$7.00	\$12.00	80.00
	SUBTOTAL		1,015	\$44.00	
Justice Week Advertising	Jumbo Chalk		\$5.00	\$10.00	\$10.00
	Copy Center Package	1	\$0.00	160.00	\$60.00
	SUBTOTAL			\$70.00	
SEMESTER TOTAL:				\$204.00	\$177,00

### InterVasrity Christian Fellowship

 President: Madelyn Houser
 mhouser
 (215) 589 3286
 C-1255

 Secretary: Emily Kirchner
 ekirchner89
 (724) 561 8336
 C-670

 Treasurer: Amanda Barwise
 abarwise
 (609) 634 3053
 C-268

Activities	Amount Requested	Amou	nt Budgeted
Large Group (open to entire campus)	\$300		200
Speakers (4 to 5)	\$250		100
Small Groups	\$100		50
Total	\$650		350
Events (open to whole campus)			
Ice Cream Party	\$100		60
Proxe Station	\$200		100
Christmas Party	\$100		100
Sensory Worship	\$30		30
November of Narnia	\$30		30
Total	\$460		320
Retreats			
Fall Retreat (Oct)	\$300		200
Van rental (2 vans, 3 days) Gas	\$360 \$60		360 60
Urbana (Dec)	\$3,900		2000
Total	\$4,620		2620
Grand Total	\$5,730	s	3,290.00

# **BRYN MAWR JUDO CLUB**

Contacts:

President: Peiying Wen, pwen@brynmawr.edu, 610-888-6429 Treasurer: Lizz Wills, ewills@brynmawr.edu, 610-888-2438

EVENT	9.0	ITEM	Quantity	Price	Total Needed	<b>Total Awarded</b>
Activity Entire Fall Semester		Judo Instruction Fee	12	\$20.80	\$1,500.00	249.6
Equipment Entire Fall Semester		Judo Gi	12	\$30.00	\$360.00	0
SEMESTER TOTAL:					\$1,860.00	249.6

# Kaleidoscope Literary and Arts Magazine

Contacts:

Editor: Nicole Gervasio, ngervasio@brynmawr.edu, 609-433-6716, C-159

Editor: Noelle Fair, nfair@brynmawr.edu, 267-614-2704, C-129

Editor: Margaret Summerfield, msummerfie@brynmawr.edu, 914-310-4772, C-489

Editor: Tyiesha Ellis, tellis@brynmawr.edu, 347-4034195, C-1359

EVENT	ITEM	Quantity	Price		Total Re	equested	Total Award	ed
Publication of	f 400 Magazines							
February 1st	Magazines with the following: 4-Color Process Prints for 52 pages Binding - Perfect Finishing Service - 5.5 x 8 in. Booklets Glossy Cover	325	\$7.45	See shee	\$2,980	0.00	2421.	25
Release Party	/Open Mic							
February 17th		3			100	\$6		0
	Chips	3			\$	15.00		0
	Acme Chocolate Cake	2			\$	18.00		0
	Napkins/plates	2	\$ 5.00		\$	10.00		0
Publicity								
OctNov. 2009	9 BMC Copy Center Publicity Package (includes 2 posters, flyers, table cards)	2	\$100.00			\$200.00		0
SEMESTER T	TOTAL:	*				\$3,229.00	\$2,421.	25

Previous Year Amount Requested: Previous Year Amount Given:

\$3,515.50 \$1,480.00
\$1,480.00

# **Knitting Club**

Contacts:

President: Rebecca Rebhuhn-Glanz, rrebhuhngl@brynmawr.edu, 732-801-4063

EVENT	ITEM	Quantity F	Price	Total Needed	Total	Awarded
Supplies						
50-2-2-2-2-3-17	Field Guide to Knitting	1	\$10.85	\$10.85	\$	10.85
	The Knitter's Book of Yarn	1	\$19.80	\$19.80	\$	
	Double Ended Crochet Hook Se	2	\$4.99	\$9.98	\$	4.99
	Wool of the Andes Yarn	6	\$1.99	\$11.94	\$	11.94
	Shamrock Yarn	6	\$2.79	\$16.74	\$	16.74
	Wool of the Andes Bulky Yarn	3	\$3.99	\$11.97	\$	7.98
	Wool of the Andes Bulky Hand [	3	\$6.99	\$20.97	\$	13.98
	Options Knitting NeedlesSmall	2	\$4.99	\$9.98	\$	-
	Options Knitting NeedlesMedic	2	\$5.99	\$11.98	\$	11.98
	Options Knitting NeedlesLarge	2	\$6.99	\$13.98	\$	13.98

SEMESTER TOTAL:

2100 10	-	00.11
\$138.19	\$	92.44

# Bi-College Korean Students Association (Bi-Co KSA)

#### Contacts

President: Jinny Hwang (jshwang@haverford.edu, 562-219-6575)

Secretary/Treasurer: Christine Hwang (yhwang@haverford.edu, 610-551-4840)

Cards (Sep		8, 2009)	<b>開始 [ 現象型和 15</b>
Quantity	Price	Total Needed	Total Awarded
250		21.17	21.17
Dinner (Se			
Quantity			Total Awarde
4 bags	5	20	20
1 bag	10	10	10
10 lbs.	4	40	40
3 packs	4	12	12
5 bags	5	25	25
3 packs	3	9	9
	3	6	6
	_	98	98
		250	200
ican Film	Festiva	(October 9	- 11, 2009)
15	20	300	0
rs (End of	Septer	nber, Date TI	BA)
Quantity	Price	Total Needed	Total Awarde
2	500	1000	500
15	10.95	164.25	164.25
		1164.25	664.25
of October	- Early	November,	Date TBA)
Quantity			Total Awarde
15	10.95	164.25	0
BQ (Nover	nber 1,		THE RESERVE
Quantity	Price		Total Awarde
		150	
50 lbs	50	250	
20 rolls	4	80	
1 tray	70	70	
40 lbs	4	160	-
2 trays	50	100	- C-
	_	40	
_		850	850
ber 3, 200	9 - Tent		
		Total Needed	Total Awarde
10	8	80	0
activity (	Date: T	BA, Fee: TB	A)
	2829.	67	1735.42
	Quantity 250 Dinner (Se Quantity 4 bags 1 bag 10 lbs. 3 packs 5 bags 3 packs 2 packs 2 packs  ican Film 15 rs (End of Quantity 2 15 Cof October Quantity 15 SQ (Nover Quantity 1	Quantity	Dinner (September 18, 2009)

# Liberty Belles Synchronized Skating Contacts: Madeline Berkowitz mberkowitz@brynmawr.edu 734-395-0941

EVENT	ITEM	Quantity Price		Total Need Total Awarde				
Practice	Ice							
Practice	lc Ice Time	13	\$75.00	\$975.00	\$375			
Van		13	28	364	364			
Total				1339	\$739			

# Lusty Cup Student Space Budget

Cal		-	-	40
Co	ш	ы	•	15

Emily Wiseman (treasurer); ewiseman@brynmawr.edu	616-745-0184
Abby Higgins, ahiggins@brynmawr.edu	425-233-2970
Augusta Irele, airele@brynmawr.edu	617-733-5976

## **Board Games**

Taboo	21.98
Jenga	19.98
Scrabble	19.32
Uno	5.49
Deck of Plain Cards (2x3.99)	7.98

## Speakers

Bose*	Companion®	2 Multimedia Speaker S	System	99.99
-------	------------	------------------------	--------	-------

## **Space Decorations**

Tapestry (to separate computer space) (2x19.99)	39.98
Wire & Hooks to hang tapestry	9.99
Large Coffee Table Books	25

Semester Total:	249.71
-----------------	--------

0

19.98

5.49

7.98

99.99

39.98

9.99

183.41

			I	
Contacts:				
President: Lauren Bochicchio, Ib	ochicchio@brynmawr.edu, 20	3-524-2408	-	•
Secretary: Sana Venjara, svenjar	ra@brynmawr.edu, 718-702-0	555		
Treasurer: Isabella Warren-Mohr iwarrenmoh@brynmawr.edu,301 728-4881				
EVENT	ITEM	Quantity	Price	Total Needed
		Quantity	11100	1000110000
			\$600.00	
Entertainment Performances	Booking Bands/ Talent	3	each	\$1,800.00
		for about		
	Food and Drink	60 people	\$300.00	\$300.00
DEMESTED TOTAL	-	_		60 400 00
SEMESTER TOTAL:		_	_	\$2,100.00
	-		_	+
		_		-
		_		_
		_		
85				
		_		
	12	_		
				_
	<u> </u>	_		_
		_		
			-	
	-	_		_

)

, 0

		_				
Total Awarded						
10101711101000						
			-			
		-				
			- 8			
250						
		7				
	7					
			- ·			

# Bryn Mawr Mayuri Dance Team

Contacts:

Co-Presidents: Rei Shimizu rshimizu@brynmawr.edu; (856) 776-9561

Mansi Gupta mgupta@brynmawr.edu; (301) 828-5050

Treasurer: Radha Venkatraman rvenkatram@brynmawr.edu; (302) 930-5078 Secretary: Mallimalika Gupta mgupta01@brynmawr.edu; (602) 625-3351

Number of Members: 16

Needs/Activities	Amount Requested	Amount Allocated
Performace Fees		
Registration Fees	\$700	400
Food	\$300	\$200
Publicity		
Advertisement (Flyers, Table Tents, Posters)	\$100	\$50
Costumes		
Pants (Plus S+H)	\$400	\$250
Top (Plus S+H)	\$400	\$300
Accessories	\$50	\$0
Travel Expenses (For 16)		
Train/Bus/Gas	\$600	\$200
SEMESTER TOTAL:	\$2,550	\$1,400

<sup>\*\*\*</sup>Explanatory Notes on Sheet 2 to describe each category

#### **Muslim Students Association**

#### Contacts:

President: Nafisa Misawa,

amisawa@brynmawr.edu, 412-708-8208

Vice President: Najia Mohammad, nmohamma@brynmawr.edu

Secretary: no secretary

Treasurer: (Haverford) Edin Fako, efako@haverford.edu, 203-919-0247,

(Bryn Mawr) Sana Venjara,

svenjara@brynmawr.edu, 718-702-0555

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
Eid Dinner					
	Plastic 9" Plates				
	Plastic 6" Plates				
	Plastic bowls				
	Plastic forks				
	Plastic knives				
	Plastic spoons				
	Plastic 8oz.				
	Tumblers Paper	-			
	Dinner Napkins	200 each	\$350.00		350
	60" Round Tables				
	(Dining Services will	(i			
	order)	9	\$275.00		\$275.00

SEMESTER TOTAL				\$3,180.00	\$2,380.00
Interfaith Dinner	Food (we would be buying from Acme and cooking)	40 people	\$350.00	\$350.00	\$0.00
Prophet	Food (snacks) Advertisements	for 40 people	\$150.00 \$25.00	\$150.00 \$25.00	\$0.00 \$0.00
Alternative Halloween  Movie Screening of Legacy of the	Food (pizza, movies snacks, etc)	for 20 people	\$200.00	\$200.00	75
	Catering Advertisements	approximately 300-350 people	\$1,000.00 \$50.00	\$2,455.00	850 50
	24 sterno 5 gal Jugs Water and plastic pitchers 90" Round and 4 Banquet Cloths (Buffet tables to be tableclothed and skirted	5 28 for	\$90.00 \$18.00 \$168.00		90 18 168
	Servers @ \$12.00 per hr. from 3:30- 10:30pm (Dining Services will set, serve & clean up) Chafing Racks with	6	\$504.00		504

Mujeres Fall 2009 Budget					
Name of Club: Mujeres Mission/Purpose of Club: Mujeres is a cultural group that acts as a support network for Latina Bryekhawe women. The group brings to light significant issues that affect us as Latin woman, on compus and abrood. Mujeres is also dedicated to sharing the Latino/Latin American culture with the Brye Mover community through discussion and by bringing outside performers, speakers, and activists to Latino Haritage Month and an annual culture show. We inside members of the Tri-Co to participate and to etijny Latino culture.					
Co-President: Jewellia Casiano			4.74		
Co-President: Pacil Roman Borrero	Phone: 956-414-1169	Email: pasteno@brynnere.edu			
Treasurer: Ashley Navarro	Phone: 857.753.0310	freat: promanborr@brynmawr.edu			-
	Phone: 310.804,7984	Emili: aniverro@hrynmawc.edu	Box # : C-858 1		
Month.	Asthribaffuens	Europe	Expenses	Amount Resusseed.	Amount Syderted.
September 14th	Latino Heritage Month Public Awareness	Bring more awareness about Latino Heritage Month	Chaft and posters	520	55
240	Cacino Hericage Month Politic Awareness	bring more awareness about Caono Heritage Worth	Chair, and posters	520	
15th	Professor Lima Opening Lecture for Latino Heritage Month	Discussion about new book	Flyers and posters	520	55
19th	Kick-off Party	Celebrate the beginning of Latino Heritage Moeth	DI and Flyers	\$108.00	90
25th	Student Panel	Bringing awareness of job opportunities for Latinos	Light refreshments	\$20	\$10
28h	Juanita Valdes-Cox Key Note Speaker	Lecture concerning comprehensive immigration reform	Flyers	\$30	\$30
October					
2nd	Professor Martinez-Matsuda Lecture	Film Screening and Discussion	Light Refreshments and Flyers	525	
7th	Food Denio	To experience the different flavors of Latin Good	Food	\$800	\$185
21st/28th	Guest Speaker : Frances Negron Muntaner	Screening of New Documentary and Discussion	Honorarium	550	\$50
November					
2006	Pre-Thanksgiving Dinner	Celebrating Thanksgiving with Mojeres members	Dinner	\$150	300
Monthly	General Body Meetings	General meetings to hold discussions and conduct activities.	Basic Supplies	\$30	30
	Hermana/Hermanita Program	Provide a Freshman Latina with an Upperclassman Latino to serve as a mentor	Ceremony	\$300	160
	Fun Days	Bring together the women of Bacaso, Sisterhood and Mujeres to strengthen the bonds with one another	Food & Games	\$25	2
			Yotal	\$1,000	5680

#### BUDGET FOR MODEL UNITED NATIONS FALL 2009

IVIOUGI UIIIIGU INALIOIIS IS AII AULIIGIILIC simulation of the U.N. General Assembly and other multilateral bodies that promotes student interest in international relations, increases the capacity for students to engage in problem solving, teaches aspects of conflict resolution, research skills, and communication skills and creates the opportunity to meet new people and make new friends. The Model United Nations Club at Bryn Mawr benefits the Bryn Mawr Community in several ways. It provides Bryn Mawr students, who have an interest in global politics, economics and international relations, with a forum to discuss various issues that confront world leaders today and to draft resolutions in response to these global issues. By attending the conferences, Bryn Mawr students develop their public speaking, debating and reasoning skills. Model UN conferences provide Bryn Mawr students with an opportunity to enhance their leadership and interpersonal skills, by giving them the opportunity to interact with young people of different

contact		mailbox:	Phone:	email
president	Nathalie Schallock	c-488	215-917- 8953	nschallo
Expenses				
	Amount Requested	Amount Budg		
UPMUNC Conference Fees	\$100 college registration		700	700
UPENN MUN conference	\$50 per delegate (12 delegates) total: \$700			
Transport	Septa: \$ 33 per person = 8.25		\$396	0
Model United Nation debate and Tea	pizza for 30 peace a pizza \$ 15		\$75	0
	drinks 10 bottles = 10 x\$ 2.5		\$25	0
	dessert= 2 cakes @ \$ 20 each		\$40	0
	advertising \$10		\$10	0
	Debate placards= 30 @ 7.50	\$2	225	0
T-shirtsto wear to conferences	12 x \$ 15 = \$ 180	\$	180	90
Fall Frolic candy	4 bags @ 2.50 = \$ 10		\$10	10
		Total		
	63	\$1,6	561 8	300

## Mewman Catholic Campus Ministry

#### Contacts:

President: Katherine Sepulveda; ksepulveda@brynmawr.edu; (207) 653-7395 Vice President: Danielle DiCiero; ddiciero @brynmawr.edu; (907) 350-8995 Vice President: Jeanette Bates; jbates@brynmawr.edu; (626) 824-6042

Treasurer: Margaret Summerfield; msummerfie@brynmawr.edu; (914) 310-4772; C-489

EVENT	ITEM	Quantity Price		Total	Total Given
Movie Night					
	Popcorn	5	\$1.00	\$5.00	
	Soda	2	\$3.00	\$6.00	
	Pizza	5 2 2	\$20.00	\$40.00	
				\$51.00	25
Christmas Party					
	Coke	2	\$1.99	\$3.98	8
	Cups	1	\$4.00	\$4.00	ří
	Sprite	2	\$1.99	\$3.99	i:
	Cookie dough (by the dozen)	3	\$5.50	\$16.50	iii
	Sprinkles	2	\$0.99	\$1.98	ĺ.
	Plates (package of 50)	1	\$4.00	\$4.00	
	Chips	2 1 2 3 2 1 2	\$1.30	\$2.60	
				\$37.05	25
Field Trips					
Twice a month	Catholic Underground in Philly round trip SEPTA	10	\$10.00	\$100.00	E.
	Van rental: lectures	1	\$20.00	\$20.00	r)
	Van certification	1	\$10.00	\$10.00	
				\$130.00	90
SEMESTER TOTAL:				\$218.05	140

# The Night Owls: Bryn Mawr's Official A capella Group

Contacts: Sarah Hockley, Abby Olson, Nat Armentrout, Kim Lunsford, Priya Saxena

President: Abby Olson, aolson@brynmawr.edu, 240-888-8453
Secretary: Priya Saxena, psaxena@brynmawr.edu, 516-445-0659

Treasurer: Sarah Hockley, shockley@bmc.edu, ext. -5708

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
Producing CD (recording, mix unknown	ting, generate CDs etc) finish traditions CD production etc,			\$2,700	1650
Fall Tour October 8-11	gas ~500 miles @ ~\$2.75/gall	4-5 cars	~\$70 per car	\$300.00	200
Supplies (Office and Event) unknown	paper, pens, folders, pizza, pop, etc for rehearsals, concerts, hosting guest	groups etc		\$500.00	200
SEMESTER TOTAL:				\$3,500.00	2050

## NIMBUS LITERARY/ARTS MAGAZINE

Contacts:

Editor-in-Chief:

1st Asst Editor-in-Chief/ Financial Director:

2nd Asst Editor-in-Chief:

Marybeth Matlack, mmatlack@brynmawr.edu

Samantha Salazar, ssalazar@brynmawr.edu, 1(708)601-0869

Sharanya Sharma, ssharma@brynmawr.edu

**EVENT** 

ITEM

Quantity Price

Total Needed

Total Awarded

Nimbus Publication Costs

850 \$4500 (for the yr)

\$3,000

Mar-10 \* The annual publishing cost (including printing, shipping and handling, the cost of print-orders, etc) is between \$ We split the cost between two semesters and make the payment to Malloy printing once the project is complete a

Poetry Slam/ Auction

Paents wkend fundraising event

Advertising Material

Plaster

40 \$\$.5/1

3

\$25.00

\$20.00 \$75.00 20 75

SEMESTER TOTAL:

\$3,095.00

95

September 10, 2009 SS

4000. ind delivered.

#### PROJECT EDUCATE IN AFRICA (PEIA)

President: Katie Nash/ Maria Waweru

Treasurer: Malate-Ann Atajiri

knash,mwwaweru matajiri

#### **ACTIVITIES**

# Speaker Fr. Uwem Akpan Shipping costs Publicity of club on campus Hand truck for easy transportation of books Crafts as prizes for dorm book drive competition African and Indian Crafts for fundraiser Total

#### AMOUNT REQUESTE AMOUNT RECEIVED

\$350	\$ -
\$750	\$ 750.00
\$10	\$ 
\$100	\$ 100.00
\$150	\$ -
\$165	\$
\$1,525	\$ 850.00

## **Pre-Health Club**

Contacts:

President: Lisa Betz, lbetz:@brynmawr.edu, (616) 706-9399
Vice President: Hanna Lee, hlee01@brynmawr.edu, (856) 304-7649
Secretary: Lauren Chan, lchan@brynmawr.edu, (626) 535-3869
Treasurer: Elena Brunner, ebrunner@brynmawr.edu, (732)547-8314

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
Election Tea					
October 6th	Assorted Cookie Platter (2 lb)	1	\$11.99	\$11.99	\$0.00
	Tea (box)	1	\$2.99	\$2.99	\$0.00
	Hot Chocolate	1	\$4.99	\$4.99	\$0.00
	Beverage Cups-Insulated (Pack	1	\$1.39	\$1.39	\$0.00
	Juice	1	\$2.99	\$2.99	\$0.00
	Organic Milk (1/2 Gallon)	1	\$3.99	\$3.99	\$0.00
	Sugar	1	\$1.79	\$1.79	\$0.00
	Paper Plates (Package of 46)	1	\$2.99	\$2.99	\$0.00
	Napkins (180 ct.)	1	\$0.99	\$0.99	\$0.00
				\$34.11	\$0.00
Q&A Tea					
October 27th	Potato Chips (10 oz.)	2	\$3.99	\$7.98	7.98
	Pretzels (10 oz.)	2	\$2.99	\$5.98	0
	Vegetable Platter	- 1	\$9.99	\$9.99	9.99
	Napkins (180 ct.)	1	\$0.99	\$0.99	0
	Coca-Cola (2-L)	2	\$1.50	\$3.00	0
	Diet Coca-Cola (2-L)	1	\$1.50	\$1.50	0
	Sprite (2-L)	2	\$1.50	\$3.00	0
	Plastic Beverage Cups	2	\$2.69	\$5.38	0
	Cheese pizza (16")	2	\$11.99	\$23.98	23.98
	vegetarian pizza (16")	1	\$15.99		
	Pepperoni Pizza (16 ")	1	\$15.99		
	Paper Dinner Plates (32 ct.)	1	\$6.39		

Medical School Visit (Jeffers	son/University of Pennsylvania)			60	
November 14th	Roundtrip Transportation - R5 Informal Talk Over Lunch with	10	\$10.00	\$100.00	0
	Med Student	11	\$8.00	\$88.00	88
				\$188.00	9, 5
Holiday Party with fundraise	or .				
December 11th	Cheese Pizza (16 ")	2	\$11.99	\$23.98	23.98
	Vegetarian Pizza (16 ")	1	\$15.99	\$15.99	15.99
	Pepperoni Pizza (16 ")	1	\$15.99	\$15.99	0
	Coca-Cola (2-L)	2	\$1.50	\$3.00	0
	Diet Coca-Cola (2-L)	1	\$1.50	\$3.00	0
	Sprite (2-L)	1	\$1.50	\$1.50	1.5
	Plastic Beverage Cups (18 ct.)	2	\$2.69	5.38	0
	Napkins (180 ct.)	1	\$0.99	\$0.99	0
	Paper Dinner Plates (32 ct.)	1	\$6.39	\$6.39	0
	Assorted Cookie Platter (2 lb)	1	\$11.99	\$11.99	\$11.99
	Tea (box)	1	\$2.99	\$2.99	\$0.00
	Hot Chocolate	1	\$4.99	\$4.99	\$4.99
	Beverage Cups- Insulated (Pack	1	\$1.39	\$1.39	\$1.39
	Advertisement			\$10.00	10
	decorations			\$15.00	0
				\$122.58	
Semester total:				\$444.86	\$215.78

## **Budget for Pre-Law Club**

The Pre-Law Club seeks to inform students about the law school application process. In addition, the club focuses on establishing connections with alumnae who have gone on to law school. This year the Pre-Law Club plans to visit various law schools in the Philadelphia area as well as hold sessions for LSAT review.

#### Contact Information:

Club President: Larissa Rubic Box C-1059 718 866 8790 X-5731 Irubio@brynmswr.edu

Club Secretary: Andrea Tang Box C-1283 609 933 3223 atang@brynmawr.edu

Campus-Wide Events	Amount Requested	Amount Budgeted
		0
Pre-Law Movie Night monthly movie night Snacks	\$30	30
Law School Trips Upenn (Feb 27) & Villanove (Mid-March Round Trip Septa Tickets	\$200	
Kaplan Events 2 this semester, to help familiarize students with the law school process Food (Soda & Chips)	\$75	75
Total	· \$305	105

#### **Pulso Latino**

Fall '09 Budget

Co President: Hannah Moreira

Secretary: Anna Jaffe

Treasurer: Andrew Ahn

(646) 338-7510

(919) 724 2642

(415) 806-1989

hmoreira@haverford.edu

ajaffe@brynmawr.edu

aahn@haverford.edu

Other Co President, Darcy Kottler, is away this semester studying abroad

Types of Activities: The members of the Pulso dance troupe are students who wish to share their enthusiasm for the art and culture of Latin movement. The purpose of the organization is to provide the Bryn Mawr, Haverford, and Swarthmore communities with opportunities to learn and to practice Latin dance through instruction, guided practice, and social dancing activity. It is also our aim to introduce the styles of Mambo, Salsa, Reggaeton, Cha-cha-cha, Rumba, Merengue, Samba, Flamenco, Bachata, and Tango to those who may have never had the opportunity to encounter these dances, as their instruction is often costly.

Size of Pulso Latino: 35

Event/Expenses	Description	Quantity	Price	Amount Requested	Amount Bu	idgeted	
Club Activites							
General Needs	301 Direct Speaker System price:\$328.95 sales tax: \$20.34 Standard/Ground Shipping						
		1	\$369.29	\$369.29	•		
	(5-7 Business Days) \$10	1	\$309.29	\$309.29	Þ		

Acoustimass 3 Speaker System

price: \$199.99 sales tax: \$12.62

Standard/Ground Shipping

* *	(5-7 Business Days) \$10	1	\$222.61	\$222.61	\$ 530.00
	Music - Itunes Downloads/CDs				
	around 5 albums	5	\$10.00	\$50.00	\$
				5.0	
	Costumes				199
	depends on the dances and				
	preferences of members this year				
	previous amount budgeted (\$850)				
	ran short	1	\$1,500	\$1,500.00	\$ 850.00
	Team Shoes/Footware Costume				
	Nike Dunk 6.0 low				
	for all use: practice/performance shoes, represent new Pulso				
	\$55.00 each with \$7 shipping				
	Will talk to representative to negotiate				
	discount for bulk order				
	(aiming for 30% off = $$43$ each)	35	\$43.40	\$1,519.00	\$
Choreographer(s)	Hire a person(s) to help choreograph				
	8-10 dances	1	\$600	\$600.00	\$ 300.00
Capoeira Lessons	Anna's teacher can teach our group				
F 1	Capoeira at \$100 per lesson	6	\$100	\$600.00	\$ 400.00
Capoeira Show in Philly 9/12/09	\$8 round trip to Philadelphia via R5	20	\$8	\$160.00	\$
V.,	\$15 admissions	20	\$15	\$300.00	\$
	for the first 20 members				
Philly Dance Exercise	Real World Practice and Application				
	possibly 3 vans among 30-35 people	3	\$20	\$60.00	\$ 60.00
	(\$1/mile) per van. 3 vans, roundtrip	25	\$3	\$75.00	\$ 75.00

Volunteer in Philadelphia	Perform and provide Latin ethnic food for of cancer patients at the Ronald McDon.					
	one trip		620	6120.00		
	possibly 3 vans among 30-35 people	6	\$20	\$120.00	\$	**
	(\$1/mile) per van. 3 vans, roundtrip	10	\$3	\$30.00	\$	*
	Groceries to provide food	72			\$	-
	(approx \$5 a person for 80 people)	5	\$80	\$400.00	\$	*0
	Perform for a senior home					
	possibly 3 vans among 30-35 people	6	\$20	\$120.00	\$	
	(\$1/mile) per van. 3 vans, roundtrip	30	\$3	\$90.00	S	=
Dance Showcase @ HC&BM Costumes (stated above)	12/4 and 12/5					
Publicity	\$100.00 x2 for copy center-offered pubi	licty pack	age of			
	posters, flyers, and table cards to be place					
	BMC, HC, and SC campus	2	\$100	\$200.00	\$	200.00
	Plant along a second	,	\$50	850.00	\$	
	Photoshop expert for new design/Pulso look	1	\$30	\$50.00	Þ	-
BM's Goodhart Theatre rental	Goodhart rental for approxamately 15 h	ours of rel	nearsal			
	2 hour showcase at \$5 an hour	17	\$5	\$85.00	\$	85.00
OPEN-CAMPUS AFTER PAI	RT Night of 12/5					
DJ	\$300.00 x1 for DJ	1	\$400	\$400.00	S	*
Semester Total	190			\$6,950.90	S	2,500.00

# Renewal Christian Fellowship (RCF)

Contacts:

Presidents: Katharine Lee, kelee@brynmawr.edu, (347) 277-6601, Box 250

Secretary: Soo Lee, cslee@brynmawr.edu, (484) 680-4348 Treasurer: Jackie Kim, jgkim@brynmawr.edu, (267)304-6401

EVENT	ITEM Quanti	ty
Weekly Transportation to Sunday Church Services in Phila		
9/5/09 - 12/19/09	Van Rentals	
	[\$20/day + \$1/mi (20 mi)] 1	6
Fall Retreat		
10/24/09 - 10/25/09	Retreat Fee	10
RCF Ice Cream Social		
9/10/	2009 Cookies & Cream ice cream	1
	Orange Sherbet	1
	Mint Chocolate Chip Ice cream	1
	Neapolitan ice cream	1
	Bowls	1
	Spoons	1
	Name Tags	1
	Gift Bags w/ Candy	10
Weekly Small Group Sessions		
	Bible Study Guides	10
RCF Christmas Party		
* 1 A C C C C C C C C C C C C C C C C C C	2009 Care Packages	10
	Pizza	
	Soda	3
	Plates	1
	Cups	1
	Cake	1

Semester Total

Price	Total Needed	Total Awarded
\$40.00	\$640.00	\$640.00
total	\$640.00	\$640.00
\$50.00	\$500.00	\$0.00
total	\$500.00	\$0.00
\$5.00	\$5.00	\$5.00
\$5.00	\$5.00	\$5.00
\$5.00	\$5.00	\$5.00
\$5.00		\$5.00
\$4.00		\$4.00
\$3.00		
\$5.00		\$5.00
\$3.00		
total	\$62.00	\$62.00
\$15.00	\$150.00	\$150.00
total	\$150.00	\$150.00
\$10.00	\$100.00	\$0.00
\$10.00		\$0.00
\$2	\$6	\$0
\$5		\$0
\$4	20.700	\$0
\$15	230.000.00	\$0
total	\$160	\$0
	\$1,512	\$852.00

# **Recycling Committee**

Contacts

Co-head: Kayla McDaniel Box C-805, 520-370-0169 kmdaniel@bmc

Co-head: Cristina Munoz Box C-844

ITEM 1: Gloves

Quantity Price: .50\$ per pair

Item 2: Organic cotton shirts

Quantity Price: 8.5\$ per shirt

p

SEMESTER TOTAL:

Total Needed: 1 box, 25\$ Total Awarded

Total needed: 25 shirts, 212.5 Shipping and Handling: 10\$ Total awarded:

\$247.50 50

# Right to Run

#### Contacts:

President: Name, Email, Phone, Box #: Angana Roy, aroy@brynmawr.edu, 781-974-4962, C-1058 Vice President: Name, Email, Phone: Lea hane, Ihane@brynmawr.edu, 612-280-1799 Treasurer: Name, Email, Phone: Either of the above contacts.

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
Run to Hope's Cookies					
October 12th, 2009	Cookies	30	\$1.00	\$30.00	25
September 28th, 2009	Ice Cream	14	\$5.00		
AIDS Walk					
October 18th, 2009	Van Rental	1	\$150.00	\$150.00	0
	Registraion	5	\$45.00	\$225.00	225
	Van Cetification Fee	1	\$20.00	\$20.00	0
Half-Marathon					
November 22nd, 2009	Registration	2	\$107.50	\$215.00	N.
	Van Rental	1	\$150.00	\$150.00	0
Movie Screening					
November 6th, 2009	Beverages	3	\$10.00	\$30.00	0
6. 17.17.11.17.23. 20.18.70.27.70	Dessert Trays	5	\$10.00	\$50.00	0
Volunteering at Shelter					
October 24th, 2009	Train Tickets	10	\$10.00	\$100.00	0
Semester Total:	\$1,040.0	0			

\$1,040.00	275
201 000 001	210

# **Rocky Horror Picture Show**

The purpose and activities of The Rocky Horror Picture Show consist of organizing, practicing, and performing the Rocky Horror Picture Show: by Mawrtyrs and for Mawrtyrs.

#### **Contact Information:**

President Iolanthe Good Box C-1310 (717)330-4621 igood@brynmawr.edu

Treasurer Lena Barnard Ibarnard@brynmawr.edu

Campus-Wide Event	Amount Requested	Amount Budgeted
Shadow performance of Rocky Horror Picture Show		
Movie Rights (from Criterion Motion Pictures)	\$450	350
Candy for the Audience	\$15	0
Bride of Frankenstein Wig	\$20	0
Fishnet stockings	\$25	0
Plain black t-shirt	\$3	0
Green glitter paint	\$5	0
Other props	\$30	0
Total	\$548	350

# **Russian Club**

Contacts:

President: Kate Goldstein kgoldstein@brynmawr.edu, 781-526-9285

EVENT	ITEM	Quantity P	rice	Total	Total Awarded
Monthly N	lovie Nights	/talk			
October	Pizza/Drini	1	\$15.00	\$15.00	
November	Pizza/Drini	1	\$20.00	\$20.00	
				\$35.00	35
End of the	Semester C	Culture Night	:		
November	1 Drinks	3	\$2.00	\$6.00	6
	Russian Fc	1	\$20.00	\$20.00	20
				\$26.00	
SEMESTE	R TOTAL:			\$61.00	61

# Sanskriti - Hindu Students Association

Contacts:

President

Tanvi Surti tsurti@brynmawr.edu; (215) 375-2697

ACTIVITIES	DETAILS	Quantity	Price	Total Needed	Total Awarded
Navratri Tea	Food and Refreshments	20	\$5.00	\$100.00	\$50.00
	Decoration	1	\$10.00	\$10.00	\$10.00
	Requirements for religious customs	1	\$10.00	\$10.00	\$10.00
	Flyers	10	\$0.50	\$5.00	\$0.00
Diwali Laxmi Puja	Food and refreshments	30	\$5.00	\$150.00	\$100.00
The state of the s	Requirements for religious customs	1	\$10.00	\$10.00	\$10.00
	Flyers	10	\$0.50	\$5.00	\$0.00
Trip to Samarpan Hindu Temple (during Hindu New Year)	Transportation by Bryn Mawr Van	1	\$70.00	\$70.00	\$70.00
SEMESTER TOTAL:		HETEK AST		\$360.00	\$250.00

### Bi-Co Scottish Country Dance Fall 2009

Margaret Summerfield President msummerfie@brynmawr.edu (914) 310-4772 Box C-489

Lizz Wills

Vice President

lwills@brynmawr.edu

Anne George-Hallgren Treasurer ageorgehal@brynmawr.edu

The Bi-co Scottish Country Dance club meets weekly for two-hour classes during which certificated teachers teach Scottish country dancing to roughly 25 students. Classes include live music. Tea and club meetings follow class. Students also have the opportunity to attend Scottish dancing events such as balls and advanced classes in the area through the Delaware Valley Branch of the Royal Scottish Country Dance Society (RSCDS).

Needs/Activities	Amour		
Musician Gifts	/	\$80	\$0
Ceilidh		\$250	\$200
Caller	\$150		
Food	\$50		
Musician Gifts	\$50		
Dance Books		\$40	\$0
Transportation		\$40	\$10
Total requested		\$410	\$210

#### Bryn Mawr College Shakespeare Performance Troupe

Co-Coordinators: Kathy Dilliplane kdilliplan@brynmawr.edu (215)595-6427

> Madi Houff mhouff@brynmawr.edu (302)379-9574

Treasurer: Rachel Goddard rgoddard@brynmawr.edu (610) 526-5758

Hamlet Contacts:

Directors: Michelle Crepeau mcrepeau@brynmawar.edu 1-(207)939-5729

Arielle Seidman aseidman@brynmawr.edu (571)237-3189

Stage Manager: Rachel Goddard (see above)
Technical Director:Hillary Cleveland hcleveland@brynmawr.edu
1- (207)841-3102

	Item	Amount Budgeted
Hamlet	Costumes	\$50
	Props	\$10
	Flashbulbs	\$5
	Stretchers (2)	\$7
	Makeup	\$5
	Publicity	\$2
	Hamlet total	\$795.0
General Troupe	Lighting trees and sidearms	\$25

TOTAL

Amount Received

350

50

30

50

20

500

150

650

\$500 \$

\$50 \$

\$75 \$

\$50 \$

\$20

\$795.00 \$

\$1,045.00 \$

\$250 \$

\$100

### Sisterhood Fall '09

Contacts:

President: Sharhea Wade, swade@brynmawr.edu, (617)459-1822

Kerlyne Jean, kjean@brynmawr.edu, (857)277-2793

Treasurer: LaKesha Preston-Roberts, Iroberts@brynmawr.edu (650)444-9818

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded	Total Spent Left Over
Friday Fun Day (BaCaSo/Muje	res)					
Oct. 2nd	Snacks		\$25	\$25.00		
				\$25.00	\$ -	
Party						
Oct. 23rd	DJ	1	\$ 500.00	\$500.00		
				\$500.00	\$ 350.00	
Sister Circle						
Oct. 29th	Catering					
	Large Rice	- 1	\$95.00	\$95.00	\$ 95.00	
	Large Jerk Chicken	1	\$150.00	\$150.00	\$ 150.00	
	Large Vegetable Stir Fry	1	\$125.00	\$125.00	\$ 125.00	
	Large Plantain	1	\$85.00	\$85.00	\$ 85.00	
	Bags of Chicken	3	\$16.00	\$48.00	\$ 48.00	
	Soda	10	\$1.00	\$10.00	\$ 10.00	
	Dining Services Staff Member	1	\$50.00	\$50.00	\$ 50.00	
	Supplies					
	Aluminum Pans	5	\$4.00	\$20.00	\$ -	
	Streamers	3	\$1.00	\$3.00	\$ -	
	Balloons	12	\$3.00	\$36.00	\$ -	
	Utensils	1	\$12.00	\$12,00	\$ -	
	Gifts	35	\$7.00	\$245.00	\$ 245.00	
				\$879.00		

Black Harmony Social (Tri-Co)

Nov. 14th 1 \$150.00 \$150.00 \$150.00 \$

Black Love Formal (Tri-Co)
Feb. 6th 1 \$ 250.00 \$250.00

\$250.00 \$ 250.00

SEMESTER TOTAL: \$1,804.00 \$ 1,408.00

### Fall 2009- Budget for Ski/Snowboard Club

Returning Members: 200

This is our seventh semester in existence and our sixth semester requesting for a budget.

The purpose of the Bryn Mawr Ski/Snowboard Club is to share the love of a sport that students can participate in for a lifetime. This will encourage a healthy attitude, physical fitness, and decrease stress. This sport can be very expensive; we hope to slowly build an inventory of equipment for the members to use and subsidize the cost of trips. We plan to do this through seeking donations of used equipment from community members and with the help of the funding we receive from Bryn Mawr. We have had three very successful ski trips; the attendance at these trips continues to increase and the community's response has been very positive. We are now in contact with a variety of mountain travel agencies which have offered us many opportunities; we hope to soon participate in these apportunities through increased funding, fundraising, and socials. Our trips involve all Tri-Co students, post-bacs, BMC faculty, staff, and their children! Advanced, intermediate, and beginner individuals have all been responsive to subsidized ski trips that make these winter sports available to everyone, regardless of their economic background!

#### Contact Information:

President: Zoe Odenwalder, zodenwalde@brynmawr.edu, 720.339.5544

Treasurer: Katie Sun, ksun01@brynmawr.edu, 630.977.9115 Swarthmore Representative: Dan Stair, danstair@gmail.com

Vice President, Secretary, and Haverford Representative to be determined at first fall meeting

EVENT	ITEM	QUANTITY	PRICE	TOTAL NEEDED AWARDED	TOTA	L AWARDED
Fall Ski Day Trip	#1- Camelback Ski Resort TBD w	eather pending				
Food (Trai	l Mix)			\$100	\$	100.00
Lift Tickets	s- ticket subsidy	45	\$23	\$1035	\$	1,535.00
Travel- 48	passenger bus rental (1 day, 13.5 ho	urs, 250 miles)		\$650	\$	650.00
Fall Ski Day Trip	#2- Bear Creek Ski Resort TBD w	eather pending				
Food (Trai	il Mix)			\$100	\$	-
Lift Tickets	s- ticket subsidy	45	\$23	\$1035	\$	-
Travel- 48	passenger bus rental (1 day, 13.5 ho	urs, 250 miles)		\$650	\$	

\$30	\$	30.00
\$30	\$	30.00
\$125	\$	125.00
\$50	\$	50.00
\$50	\$	50.00
Total: \$3855	\$	2,570.00
	\$125 \$50 \$50	\$125 \$ \$50 \$

# Society for the Physical and Natural Sciences

#### Fall 2009

### Contact Information:

President: Yang Gao, ygao@brynmawr.edu, 732-789-8867

Vice-President: Claire Weichselbaum, cweichselb@brynmawr.edu, 773-528-8300

Treasurer: Camille Petre, jpetre@brynmawr.com, 443-474-3950

Event	Items	Requested	Quantity	Total Needed	
Philadeliphia Zoo	Admission	\$270.00	15 Tickets		
Oct-09	Transportation	\$20		\$290.00	160
Penn Museum of Acheology	an Admission	\$150	15 Tickets	\$170.00	100
Nov-09	Transportation	\$20			
Mutter Museum	Admission	\$90	15 Tickets		
9-Nov	Transportation	\$20		\$110.00	60
Events Open to Campus Con	nmunity				
SPNS Science Party	Food	\$40			
	Decorations	\$20		\$60.00	0
Documentary Screenings	Snacks	\$60	3 Films	\$60.00	0
Total for the Semester (3 scr	reenings)				
General Publicity		\$10		\$10.00	0
	Semester Total:			\$700.00	320

Statement of Purpose: To open up communication among all of the science staudents and faculty, especially through our acting as a forum for scientific discussion among the memebers of the tri-college community, as well as to create public awareness of current scientific issues.

## Students for Justice in Palestine

Contacts:

President: Noara Razzak,nrazzak@brynmawr.edu, 610-526-5732 Secretary: Kim Mullane, kmullane@brynmawr.edu, 781-572-8270 Treasurer:Daisy Shetterly, dshetterly@brynmawr.edu, 617-733-9483

EVENT		ITEM	Quantity	Price	Total Needed	Total Awarded
Movie S	Screening				\$180.00	
Date	10/02/2009	Movie Liscensing Snacks	1	\$150.00 \$30.00		_ 150 _ 0
Speake Date	11/15/2009	Fees and Transportation Posters	1 40	\$20.00	Ü	400 0
		Snacks		\$50.00	Ŋ.	0
Cultura	l Workshop/ Dinner				\$450.00	)
Date	12/06/2009	Catered Food Supplies Musicians		\$300.00 \$50.00 \$100.00		150 0 100
SEMES	TER TOTAL:				\$1,500.00	800

# **Tabitha Performance Group**

Contacts:

President: Caitlin Iles, ciles@brynmawr.edu, (608) 628-2513, Box C-211

EVENT	ITEM	Quantity	Price Price	Total Needed	Total	Awarded
Tabitha Performance						
	Technical Crew Publicity			\$300.00	\$	250.00
	Posters/Postcards			\$60.00	\$	45.00
	Flyers	60	\$0.00	\$4.80	\$	3.00
	Refreshments					
	Food			\$80.00	\$	70.00
	Beverages			\$30.00	\$	20.00
	Paper Products (cups, plates,)			\$15.00	\$	15.00
	Costumes (10 costumes)			\$350.00	\$	200.00
	Programs			\$80.00	\$	70.00
	Photographer			\$50.00	\$	40.00
SEMESTER TOTAL:				\$969.80	\$	713.00

# Taboo

Contacts:

President: Kay Goldstein, kgoldstein@brynmawr.edu, 1-781-526-9285 Vice-Presdent: Caity McCarthy, cmccarthy@brynmawr.edu, 301-349-0365

EVENT	ITEM	Quantity Price	Total Needed	To	tal awarded
Speaker on Safety Issues Date: Currently Undecided	Public Speaker for Event	\$250		1	200
	Books to establish club library	\$50	Total	Poss	50 250

### RHOADS HALLOWEEN BUDGET

Presidents:

Alex Annalee Ashley Garrity aashley@brynmawr.edu agarrity@brynmawr.edu 614-565-8591 630-803-0250

C-1324

Event

#### Rhoades Halloween @TGH

Item .	Price	Per Package	Quanity	Total Needed	Total Awarded
Decorations					
Spider Webs	1		10		10 10
Helium Balloons		3	2		100 75
Tablecloths	2.5	5	4		10 0
Cob Webs	7	1	12		24 24
Tape	1.5	5.	3		4.5 0
Skeletons	11	L	6		66 0
Rope Lighting	7	,	10		70 0
Extension Cords	10	)	10		100 0
Skull Lanterns	11	l.	8		88 0
Publicity	0.5		100		50 0
Streamers	-		20		40 0
The Morning After					
Boxes of Joe	12		2		24 24
Bagels	0.3	1	50		15 15
Cream Cheese	4		3		12 0
Pumpkin Pies	5	i:	15		80 0
DJ	800	E	1	84	800 400
Dining services fee	200		1	113	200 200
Paper Goods					
Red Cups	10	240	15	;	150 150
Food					
Candy	10	200	6		60 60
Water Jugs	100				200 75
soda					200 75
Public Safety					
Walkie Talkies	35		6		400 400
Lower Merion Police	450	i.	1		450 450
Public Safety Officers	400	Ē.	1	· ·	400 400
Tee shirts					
Bouncer Te ee Shirts	10		10		100 0
Fund Raising Shirts	10	g.	10	. 5	500 0
Halloween Party Total				415	3.5 2358

# Bryn Mawr/Haverford Tap Alliance Club

#### Contacts:

President: Sumedha Niranjan sniranjan@brynmawr.edu; (862)-432-9770

Vice President: Christina Wagner cwagner@brynmawr.edu; (861)-603-1332

Treasurer: Sumedha Niranjan sniranjan@brynmawr.edu; (862)-432-9770

#### Number of Members: 8

Needs/Activities	100	Amount Requested	Amount Allocated
Professional Teacher's fee	7	\$500	\$240
Costurnes (8 people)		\$100	\$60
SEMESTER TOTAL:		\$600	\$300

TRADITIONS BUDGET FALL 2009				\$	
Expenses	<b>Description of Expenses</b>	Cost for Items in Budget Line	Itemized Total		l Awarded
General Traditions Request				15,533	
Mestario similari di statono di Lini	Candles for Parade Night	500; 7 boxes, 2 @ \$5, 5 @ \$7	\$45	\$	45.00
	Candles for Lantern Night	900; 13 boxes for \$7 each	\$95	\$	95.00
	Class of 2013 Song Sheets	600	\$38	\$	38.00
	Songbooks	1300	\$950	\$	950.00
Parade Night					
	Glow Sticks	400	\$259	\$	259.00
Lantern Night					
Lantern Order		375 lanterns for \$55 apiece	\$20,625	\$	20,625.00
	Light Blue- 0				
	Green- 0				
	Dark Blue- 0				
	Red- 370				
	Purple- 5				
Panes Order		40 panes for \$2.10 apiece	\$84	\$	84.00
	Light Blue- 0				
	Green- 0				
	Dark Blue- 20				
	Red- 20				
	Purple- 0				
TOTAL FOR LANTERNS			20,709		
	Tickets for Lantern Night		\$48	\$	48.00
Publicity					
1000000 2000	Table Tents	150	\$25	\$	25.00
	Hall Signs	50	\$20	\$	20.00
	Mailbox Stuffings	1400	\$45		
Refreshments	₩.				
	Hot Chocolate	350 servings	\$50	\$	50.00

Sophomore Rep Teas					
"Lantern Night Tea Invitation" Tea					
	Construction Paper	2 200-packs at \$6.49 apiece	\$13	\$	13.00
	Posterboard	10 at \$1.29 apiece	\$13	\$	
	Markers	5 boxes at \$4 apiece	\$20	\$	20.00
	Ribbon	10 at \$1 apiece	\$10	\$	10.00
	Refreshments	food and drink	\$50	\$	50.00
"Tying Lantern Night Tea Invitations" Tea					
	Ribbon	10 at \$1 apiece	\$10	\$	10.00
	Refreshments	food and drink	\$50	\$	50.00
Miscellaneous					
	Lantern Night Shirts	50 at \$7 apiece (short sleeve)	\$350	\$	350.00
	Lantern Night Shirts	100 at \$10 apiece (long sleeve)	\$1,000	\$	1,000.00
	Chalk	52 pack	\$12	\$	12.00
TOTAL FOR FALL SEMESTER			\$23,812	\$	23,754.00
				pp	170,000,000
Contact Info:					

484-995-0843

301-509-3783

Colleen Haley- colleenshaley@gmail.com

Sarah Sherman-ssherman@brynmawr.edu

# The Tri-College Cultural Media Group

Contacts:

President: Nina Zipkin, nzipkin@bmc, 203-247-6989

Vice President: Emily Bushway, ebushway@bmc, 484-529-7822

Treasurer: Elizabeth Toft, etoft@bmc, 908-337-8338

EVENT	ITEM	Quantity F	Price	Total Needed	Total Awarded
Star Trek Exhibit at the	e Franklin				
	9/18/2009 Septa Train Tickets	15	\$12.00	\$180.00	50
	Cabs	4	\$7.00	\$28.00	50
	Museum Entrance	15	\$15.00	\$225.00	50
Film Night					
October, TBA	DVD Rental	2	\$7.00	\$14.00	50
	Pizza	3	\$14.00	\$45.00	50
	Snacks (Chips etc.)	3	\$5.00	\$15.00	0
NYC Trip - Paley Cent	er for Media				
November/December T	BA				
	Bolt Bus Tickets	8	\$26.00	\$208.00	0
	Museum Entrance	8	\$8.00	\$64.00	0
TBA - Fundraising Act	tivities				
October-December					
SEMESTER TOTAL:				\$779.00	250

## Video Gamers Club

Contacts:

President: Jillian Barndt jbarndt@brynmawr.edu; (215) 850-3882; C-30 Treasurer: Michelle Beard msbeard@brynmawr.edu; (580) 678-6259; C-32

EVENT	ITEM	Quantity	Price	Total Needed	Total A	warded
Video Games	The Beatles: Rock Band (Xbox 360)	1	\$59.99	\$59.99	\$	59.99
	BlazBlue: Calamity Trigger (PS3)	1	\$49.99	\$49.99	\$	49.99
	Guitar Hero 5 (PS2)	1	\$39.99	\$39.99	\$	-
	Mario Party 8 (Wii)	1	\$46.99	\$46.99	\$	
	Mario and Sonic at the Olympic Games (Wii)	1	\$49.45	\$49.45	\$	ů.
Video System Accessories	Rock Band Xbox 360 Mics	3	\$19.98	\$59.94	\$	19.98
Stress Buster	Assorted Cookies	3	\$9.00	\$27.00	\$	27.00
*campus wide event	Drinks	3	\$5.00	\$15.00	\$	30.00
Tentative: Mid November	Paper Napkins	2	\$3.00	\$6.00	\$	6.00
	Paper Plates	2	\$3.00	\$6.00	\$	6.00
SEMESTER TOTAL:				\$360.35	\$198.96	3

#### **VISIONARY BUDGET FALL 2009**

Visonary: The International Studies club is a place for people who are interested in foreign affairs and the world around us. We have hosted documentary nights for the community and hold discussions weekly.

#### EVENT/ITEM

#### AMOUNT REQUESTE AMOUNT RECEIVED

**Documentary Nights (2)** 

\$100

100

Rights to the films

Field Trip to Philadelphia

to visit consulates

Transportation

Train from BMC to Philly (10)

\$100

\$0

TOTAL

\$200

\$100

Visionary meets weekly. There are curently 10 members.

Co-President: Lauren

Co-President: Ana Arquilla

Co-President: Anna Mathew Russell

lussall

Box C-1498

Box C-283

Box C-731

831-402-3617

908-642-4662

908-500-2136

aarquilla@brynmawr.edu

amathew@brynmawr.edu|russell@brynmawr.edu

# Women's Center

Contacts:

Nicole Matos, nmatos@brynmawr.edu Nga Nguyen, nlnguyen@brynmawr.edu, #5705

EVENT	ITEM	Quantity	Price	Total Needed
Monica Roberts speaker				
5.	40093 Travel Airfare	1	400.00	400.00
	Travel R1	2	7.00	14.00
	Travel R5	2	6.00	12.00
The Waiting Room spon	sorship			
November	sponsorship	1	250.00	250.00
Get Real program				
Fall semester	Snacks for week 1	1	10.00	10.00
	Snacks for week 2	1	10.00	10.00
	Snacks for week 3	1	10.00	10.00
	Snacks for week 4	1	10.00	10.00
Juanita Valdes-Cox spea	ker			
	40085 Co-sponsoring with Mujeres	1	50.00	50.00
LGBTQ History Month				
October	Give out buttons, stickers, ribbons	1	70.00	70.00
	40116 Open-Mic/Skits Performance Night	1	100.00	100.00
	40107 Being Gay at the Workplace Panel	1	50.00	50.00
	LGBTQ Arts Display	1	100.00	100.00
Alia Whitney-Johnson Er	mergeGlobal speaker and panel			
	40128 Travel Airfare	1	350.00	350.00
	Travel R1	2	7.00	14.00
	Travel R5	2	6.00	12.00
Drum Program				
10.70	Equipment		\$100	\$100
SEMESTER TOTAL:			- 1	1,312.00
			-	The second secon

Total Awarded

### Yalah!

Bi-Co Belly Dance Club

_	
Cont	 -
1 5 10 10	

President: Julianne Rieders	jrieders@brynmawr.edu,	(215)913-0844	Box C-456
Co-President: Naomi Sharlin	nsharlin@brynmawr.edu,	(608)628-0569	Box C-520

#### Events:

Performance and Culture Showcase with the Hula Club: Amount	Requested	Amount Given
Persian food from Mediterranean Grill	\$415	\$350

Costumes:	7 harem pants (\$30 each)		\$210	\$0
	7 veils (\$20 each)		\$140	\$80
	7 scarves (\$30 each)		\$210	\$210
	5 tops (\$25 each)		\$225	\$0
		Total:	\$1,200	\$640

# Adopt-a-Grandparent CEO TRANSPORTATION

Contacts:

President: Miranda Bennett mebennett@brynmawr.edu (434) 960-5404

Secretary: Tina Hu thu@brynmawr.edu (909) 569-8506

EVENT	ITEM	Quantity P	rice	Total	Total Awar
Bi-weekly trips to Beaumont Re	tirement Hom	10			
begin week of september 28th	Van	2	\$20.00	\$40	
	Mileage	4	\$1.00	\$4	
x 8 weeks				\$352.00	

SEMESTER TOTAL:

\$352.00

	A	В	С	D
1	FACTS Tutoring Program			
2	Fall 2009 Transportation Budget			
3				
4	Student Coordinator: Stephanie Smith	(617) 435-1801		
5	ssmith@brynmawr.edu	Box C-611		
6				
7	Number of Tutors: 20 members			
8	Transportation	Amount Requested		Amount Budgeted
9				
10	Tutoring			
11	\$8.25 per roundtrip x 20 members x 10 weeks	\$1,650.00		
12	SUBTOTAL	\$1,650.00		
13				
14	Orientation			
15	\$8.25 per roundtrip x 20 members	\$165.00		
16	SUBTOTAL	\$165.00		
17				
18	Board/Faculty Meetings			
19	\$8.25 per roundtrip x 2 members x 3 times	\$49.50		
20	SUBTOTAL	\$49.50		
21				
22	TOTAL	\$1,864.50		

## **Music Out Loud**

#### **CEO TRANSPORTATION**

Contacts:

President: Kiran Bhardwaj, kbhardwaj@brynmawr.edu, 402-314-5966 Secretary: Emilia Marczyk, emarczyk@brynmawr.edu, 503.952.6278 Treasurer: Michelle Kim, mkim01@brynmawr.edu, 310-291-6585

EVENT	ITEM	Quantity P	rice	Total	Total Awarded
Transportation to Penn	ell Elementar	y School			
Week of October 19	Van	1	\$20.00	\$20.00	
	Mileage	26	\$1.00	\$26.00	
Week of October 26	Van	1	\$20.00	\$20.00	
	Mileage	26	\$1.00	\$26.00	
Week of November 2	Van	1	\$20.00	\$20.00	
	Mileage	26	\$1.00	\$26.00	
Week of November 9	Van	1	\$20.00	\$20.00	
	Mileage	26	\$1.00	\$26.00	
Week of November 16	Van	1	\$20.00	\$20.00	
	Mileage	26	\$1.00	\$26.00	
Week of November 23	Van	1	\$20.00	\$20.00	
	Mileage	26	\$1.00	\$26.00	
Week of November 30	Van	1	\$20.00	\$20.00	
	Mileage	26	\$1.00	\$26.00	
				\$322.00	
					9
SEMESTER TOTAL:				\$322.00	

# Right to Run

### **CEO TRANSPORTATION**

Contacts:

President: Angana Roy aroy@brynmawr.edu; 781-974-4962, C-1058

Secretary: Lea Hane@brynmawr.edu; 612-280-1799

EVENT	ITEM	Quantity Price	То	tal
AIDS Walk October 18th	Train Tickets	5	\$10.00	\$50.00
Half-Marathon November 22nd	Train Tickets	5	\$10.00	\$50.00
Women's Shelter November	Train Tickets	10	\$10.00	\$100.00

SEMESTER TOTAL:

\$200.00

#### Bryn Mawr College South Asian Women (SAW) Budget for Fell Semester 2009

Amount Requested Total Amount Budgeted Number of Members: Approximately 150

\$2,670.00

"Events Listed in Order of Priority

Event Activities	Needs	Amount Request A	mount Giver
South Asian Culture Show			
Nov. 14th	1		
SAW's trademark event of the year.	Refreshments ( Indian Food :D)	\$850.00	\$850.00
Open campus wide for performers.	Delivery Charges	\$25.00	200,00
every year the show has over 200	Decorations (Color Poster Board, candles)	\$150.00	\$75.00
sudience members and thus a large	Publicity ( Posters, Flyers, Banner)	\$30.00	30000
emount of funds is budgeted in	Quest Act. Transport, Accomodation	\$500.00	
providing programs and		3.633972	
efreshments. We also have a	1	1 1	
radition of giving senior gifts to praduating SAW members to			
strengthen our future alumni			
network.	TOTAL	\$1,555.00	\$925.00
Iterary Guest Speaker		1,,	-
lec. 12			
	Province States Coppers	V-2030 k	
SAW is excited to bring in a South Asian	Honorarium (speaker fee)	\$300.00	2000
puest speaker to showcase literary works,	Transport	\$100.00	\$50,00
old and new. We hope to have this as our second biggest event of the semester	Accommodation Publicity	\$100.00	\$50.00
ind would like to see an attendance of	Refreshments	\$100.00	\$70.00
00 or more people.		*******	40000
	7074		
eneral Body Meeting	TOTAL	\$610,00	\$170.00
ept. 17th			
Annual Annual Assets	D. J		
i chance for the SAW community to econvene and catch up with each	Refreshments (Semosas, Mango Lassi) Delivery	\$100.00 \$20.00	\$100.00
ther after the summer. It is also a	Insurance	\$10.00	- 1
by to introduce the freshwaren to	Soda	\$10.00	
e SAW community and get to	0000	\$10.00	
now them. Traditionally the club	1		- 1
erves Samosas to welcome in the new	1		
enders.			
CA 6 CO	TOTAL	\$140.00	
g Sis, Lif Sis Yea			
ct. 25th	1		
	1	1 1	
ashumana and Chapterines	Bahashmash/Sada Birost	\$25.00	8000
eshwomen and Upperclass- order get a chance to meet each	Refreshments(Soda, Pizza) Crafts Activity( Painting Jewelry Boxes,#30)	\$100.00	\$25
her over a fun arts and crafts	and the state of t	# (MA) (A)	***
divity. This year we expect to have		I	
round 30 treatwomen, as Lif Sisters		I	
	TOTAL	\$125.00	
id & Diwali Tea			
ept. 26th			
	1000 1000 m 0000	8533533	10,000
rportant religious celebrations for	Refreshments (Sweets and Cheat)	\$150.00	\$100.00
any of SAW's members. This	Delivery Charges	\$25.00	
ampus wide event allows people to	Publicity	\$10.00	
arn about South Asian religious istivals as well as by some ethnic		1,0255	- 1
uran an arm en ny roma mone.	TOTAL	\$185.00	
tional Be The Change Day		-	
it. Sed			
provides while they of comment.	References Manual	100.00	
country wide day of community ervice. SAW will be involved in	(Refreshments (Sodas)	\$10.00	
rojects in Pfully. Transportation	Publicity		
if he provided by the CEO.	TOTAL	\$10.00	
ovie Night	Refreshments (Popcors, Pakors, Soda)	\$45.00	\$25.00
oc 5th	A short and and	7000	
AW would like to showcase a movie	TOTAL	\$45.00	_
hich will address issues of culture, religion,		1000	
ed discrimination faced by South Asians	1		- 1
America, and in South Asia itself.	TOTAL	\$2,670.00	\$1,345.00

Priyanka Natamada "11 Co-President pnelameda@brycmavc.edu

Nikitha Ashok "11 Co-President nashok@brynmawr.edu

Nada Khalid 12 Treasurer oskhalid@brynmawr.edu Box C-655 # 214-770-6079

### Sisterhood Fall '09

#### **CEO TRANSPORTATION**

President: Sharhea Wade, swade@brynmawr.edu, (617)459-1822 Kerlyne Jean, kjean@brynmawr.edu, (857)277-2793 Civic Head: Shanika Bridges-King, sbridgeski@brynmawr.edu, (617)293-3409 Treasurer: LaKesha Preston-Roberts, Iroberts@brynmawr.edu (650)444-9818

20)

Quantity Price

 Greater Philadelphia Cares: Values Through Sports and Arts & Craft

 Sept. 26th Van
 1
 \$20.00
 \$20.00

 Mileage
 40
 \$1.00
 \$40.00

\$60.00

Total Awarded

Total

Greater Philadelphia Cares

EVENT ITEM

Nov. Van 2 \$20.00 \$40.00 Mileage 40 \$1.00 \$40.00

\$80.00

SEMESTER TOTAL:

\$140.00